TVC(cbch)(OOO) TVC(cbch)(OOl) TVC(cbch)(OOZ) TVC(cbch)(003)
X~ i Zose+ud [ 25 A L2z revud ] 25 X 1L 20re+04 [ 25 A 1L iyrerud ] 25
4000 4140+ 0.0 A000F ., po 4146+ 0.0 4000F L PO 4148+ 0.0 4000FL., po 4146+ 0.0
-34.31+ 0.00 pL -34.44+ 0.00 3 pl -34.35+ 0.00 pL -33.7+ 00

3000

E 3000 - 3000 - 3000 [ B

2000 - 2000 -1 2000 = 2000

1000 -1 1000

- 1000

ol C = 29.67 [ps/ch]

1 L 1 L
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (0,0,4 TVC(cbch) (0,0,5 TVC(cbch) (0,0,6 TVC(c, bch) (0,0,7

Tz yse+ud / 25 -1, Ug3e+u4 / 25 “ 1 nug.uyle+ud / 25 T g, 134e+04 [ 25
4000E pO 4183+ 0.0 4000, pO 4186+ 0.0 4000, pO 4179+ 0.0 4000, pO 4205+ 0.0
Pl -34.45: 000 Pl 3475+ 000 [ PL_ 3334+ 000 Pl -3471% 000

3000 4 3000 ] 3000 ] 3000 4
2000 4 2000 E 2000 ] 2000 - 4
wor C 5 ] 1000 ] 1000:— C =29.99 [ps/ch] ™, — woor C =28.81 [ps/ch] . 7]
1 1 - L 1 1 - ] 1 1 -
0 00 0 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (O 0,8 TVC(cbch) (0 0,9 TVC(cbch) (0, 0 10 TVC(c, bch) (0, O

~ 1 nuiLOvse+u4 / 25 ~ g 1bye+u4 [ 25 1 nuiL490e+U4 / 25 T uaue+u4/25
4000w, pO 42412 0.0 4000 f pO 42434 0.0 4000 DO 4265+ 0.0 4000 i, p0 227200
pl 37.2+ 0.0 359+ 0.0 L pl -36.08:+ 0.00 pL -35.61+ 0.00

3000 - b 3000 1 3000 — 3000 B

2000 - B 2000 - 2000 B 2000 B

1000 C ] 1000 B 1000 N 1000 B

- -
- -
- -
1 1 1
0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(CbCh)(OOl ) TVC(cbch)(OOlB) TVC(CbCh)(OOl ) TVC(cbch)(OOlS)
T, rsve+u4 | 25 Tinugszie+ud [ 25 T rnuigp41e+04 / 25 -1 nug.yuye+ud / 25
4000 4244+ 0.0 4000 4257+ 0.0 4000 PD 4242+ 0.0 4000 4245+ 0.0
-36.11 + 0.00 -35.41+ 0.00 r pl -35.08 + 0.00 -34.4+ 0.0

3000

N 3000 - 3000 N 3000

2000 2000 - 2000 2000

1000

= 1000

) 1000 . o C =29.07 [ps/chl™, 7
IS(I)IIII1C:0I- Illlgldlllllﬂlol- Igéllllll;l]l-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 1,0)
T A

- po

" 104125
4186+ 0.0
pl -34.41+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0,1, 4

Tnu 836 /25
PO 4211+ 0.0
pl -34.62+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0,1, 8

T rg/e+04 [ 25
LY 4213+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 1, 12

T inuiL 1gye+ud / 25
PO 4266+ 0.0
pl -37.22+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,1,1)
T A

S T 506725
e, PO 4195+ 0.0
pL -35.23+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 1,5

Trna 8241/ 25
- po 4218+ 0.0
Pl -34.670.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 1,9

1 nuig 3yoe+ud / 25
- po 4229+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 1, 13

T 1 use+u4 [ 25
- po 4272+ 0.0
pl -37.93+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

TVC(c,b,ch)=(0, 1, 2)
T X

TP delay [ns]

TVC(c,b,ch)=(0, 1, 6
T X

4000

3000

2000

1000

Srwae T 1502/ 25
e, po 4218+ 0.0
3 pl -36.18+ 0.00

3000

-1 nar ) 1851/25
[ p0o 4232+ 0.0
I pl -35.4+ 0.0

- C = 28.25 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 1, 10

4000

3000

2000

1000

T, (19e+u4 / 25
- po 4247+ 0.0
I pl -35.47 + 0.00

- C = 28.19 [ps/ch

0

1
50 100

TP delay [ns]

4000

3000

2000

1000

TVC(c,b,ch)=(0, 1, 14

- po

“rou " yus5/25
4256+ 0.0
pl -36.97 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 1, 3)
C T *

S T rys3/25
e PO 4218+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 1, 7

rnae BYHT [ 25
- po 4235+ 0.0
pl -34.61+ 0.00

[ C =28.89 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 1, 11

T nui n3ze+u4 [ 25
- po 4247+ 0.0
pl -35.49 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 1, 15

T 1zze+04 1 25
- p0 4266+ 0.0
pl -37.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0)

A7 1 nuiuove+ud / 25
4204+ 0.0
-36.44 + 0.00

TP delay [ns]

TVC(cbch) (02,4

- 1 nurLguze+ud / 25
4187+ 0.0
-35.82+ 0.00

== po
pl
e 4
% i
TP delay [ns]
TVC(cbch) (O 2,8

T rnuiLgu/e+U4 [ 25
4230+ 0.0
-35.8+ 0.0

1
100

TP delay [ns]

TVC(cbch) (0,212

T rnuiLploe+ud / 25
4247+ 0.0
-36.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1)

A

=, po

p1

Yoo / 25
4199+ 0.0
-35.62 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

“nuiZs/e+u4 [ 25
4207+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

— po

pl

T nup.4b/e+u4 / 25
4261+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

- pO
p1

T inai zyze+ud [ 25
4232+ 0.0
-36.9 + 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (0,2,2)

i

- po
p1

1109125
4214+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(cbch) (0,2,6

- i 1b4e+04 / 25
4204+ 0.0
-36.46 + 0.00

- PO

: o

F C = 27.42 [ps/ch .
5 s

TP delay [ns]

TVC(cbch) (0, 2 10

=1 nug,

139e+U4 /25
4263+ 0.0
-36.3+ 0.0

1
100

TP delay [ns]

TVC(cbch) (0,2 14

~ i gove+ud | 25
4249+ 0.0
-37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3)

o=, po

pl

AT 1 nuiL1yoe+ud [ 25
4223+ 0.0
-36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

pe=e. pO
pl

-1 nui Zgae+u4 [ 25
4231+ 0.0
-37.33% 0.00

50 100

TP delay [ns]

TVC(c,b ch) (0, 2

= pO

T zb::e+u4/25
4261+ 0.0
-36.07 + 0.00

pl

TP delay [ns]

TVC(C, bch) (0,215

T inui s1ye+ud [ 25
4247+ 0.0
-37.09+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,3,0)
T X

Srnar o044 [ 25
po 4203+ 0.0
pl _ -36.3:0.0

TP delay [ns]

TVC(c,b,ch)=(0, 3, 4

S 913/ 25
po 4191% 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 3,8

iz 119e+u4 1 25
po 4224+ 0.0
p1 -34.87 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 12

T rnaiLzzse+u4 | 25
po 4259+ 0.0
pl -36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0,3,1)
T A

S 7 yz18/25
= po 4202+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 3,5

= 1 nui Oape+ud / 25
== po 4196+ 0.0
pl -35.44 % 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 3,9

Tinun.p/1e+u4 /25
= po 4238+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 3, 13

<1 nuiLybbe+ud / 25
- po 4250+ 0.0
p1 353+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 3,2)
T X

S 7 wur6/25
po 4214+ 0.0
p1 -36.28 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 3, 6

T Loy /e+ud [ 25
po 4215+ 0.0
pl -36.89+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 3, 10

- C = 28.43 [ps/ch

1 nuzboye+ud [ 25
po 4249+ 0.0
pl -35.18 + 0.00

b

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 3, 14

~nuiLguse+u4 / 25
po 4271+ 0.0
-36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 3, 3)
T A

S 7 ys8/25
po 4226+ 0.0
pL -36.06 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 3,7

-1 nui041e+u4 / 25
po 4227+ 0.0
p1 -35.63+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 3, 11

T nui v3se+u4 [ 25
po 4257+ 0.0
pl -35.89+ 0.00

1
50 100

TP delay [ns]

15

TVC(c,b,ch)=(0, 3,

Srna T 816125
po 4267+ 0.0
pL -35.44 + 0.00

P IR S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

K™ 1nui 1uae+ud /25
.. po 4206+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(cbch) (0.4,4

s rna Y157 /25
P po 4202+ 0.0
pl -36.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T L4 r9e+u4 [ 25
- po 4223+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T i zooe+u4 / 25
= po 4230+ 0.0
pl -36.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1)

AT 1 nuiLlize+ud [ 25
P, po 4187+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= 1 nui 0ase+ud | 25
== po 4204+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

Tinug14/e+04 /25
- po 4237+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

T nuiL 1bve+ud / 25
4238+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (0,4,2)

A7 1 nun usse+u4 / 25
__— po 4223+ 0.0
o pl -38.21+ 0.00

TP delay [ns]

TVC(cbch) (04,6

=1 nurLUbye+ud / 25
e pO 4225+ 0.0
[ pl -38.07 + 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T L/ rge+u4 [ 25
. po 4259+ 0.0
L -35.7 + 0.0

TP delay [ns]

TVC(cbch) (0,414

~ 1L zove+ud | 25
4229+ 0.0
-36.81+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT 1 nuiL2zoae+u4 [ 25
- po 4230+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (0,4,7

s 9u4l1/25
= po 4220+ 0.0
pl -37.29+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T 155e+u4/25
- po 4267+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

T nuiybse+ud / 25
= po 4238+ 0.0
p1 -37.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

ur

TVC(c,b,ch)=(0, 5,0)
T A

youB /25
4178+ 0.0
-36.78 + 0.00

TP delay [ns]
TVC(c,b,ch)=(0, 5, 4)
- : X~ 1 nur 6Y57 /25
== pO 4193+ 0.0
pl -35.33+ 0.00
- C T
1 L =
50 100
TP delay [ns]
TVC(c,b,ch)=(0, 5, 8
X 1,
E i po
p1

.28Ye+U4 [ 25
4183+ 0.0
-34.57 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 5, 12)

_ : A~ 1 nui ulye+u4 / 25

g po 4196 + 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 5,1)

-, po

A 1L 7oag+ud | 25
4178+ 0.0
pL -37.69+ 0.00

TP delay

TVC(c,b,ch)=(0, 5,5

nut

[ns]

- 8330/ 25
4183+ 0.0
pl -36.26 + 0.00

1
50 100

TP delay

TVC(c,b,ch)=(0, 5, 9

po

[ns]

T nup.az1e+04 / 25
4202+ 0.0
p1 -35,51+ 0.00

1
50 00

TP delay

TVC(c,b,ch)=(0, 5, 13

-1 nuiLuale+ud [ 25
4203+ 0.0
-34.7+ 0.0

po
p1

[ns]

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

= PO
[ pL
3000:— ]
zooo:— _
1000:- C =28.32 [ps/ch '
3 5(') 10'0 =

4000

3000
2000

1000

"

=, PO

pl

war

TVC(c,b,ch)=(0, 5, 2)
T r

v745/25
4184+ 0.0
-36.85+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 5,

= w0
pl

6

i

1962125
4193+ 0.0
-36.06 + 0.00

50

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 5, 10

- 1L prge+ud [ 25

4225+ 0.0
-35.32+ 0.00

TP delay [ns]

= PO

pl

TVC(c,b,ch)=(0, 5, 14

1 nuiL yoae+u4 [ 25
4207+ 0.0
-35.68+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 5
T r

po
pL

:3)

1937125
4185+ 0.0
-36.26 + 0.00

e

TP delay [ns]

TVC(c,b,ch)=(0, 5

po
pl

.7

nut

8383 /25
4204+ 0.0
-33.93+ 0.00

[ C =29.48 [ps/ch]

1
100

50
TP delay [ns]
TVC(c,b,ch)=( 0, 5, 11)
. X~ 1 nuiL3uze+u4 / 25
po 4219+ 0.0
p1 -34.81+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 5

, 15

- i u3se+ud [ 25
4205 0.0
-35.21+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0)

X /na

", po
pl

vov7 /25
4207+ 0.0
-36.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (06,4

nu

pO
pl

Yo15 /25
4196+ 0.0
-36.48 + 0.00

TP delay [ns]

TVC(cbch) (O 6,8

pD
pl

Tz z1ze+u4 | 25
4214+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T s43e+04 / 25
4225+ 0.0
-35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1)

e

=, pO

- 8932/ 25
4199+ 0.0
pl -36.03+ 0.00

TP delay

TVC(cbch) (06,5

nut

[ns]

. Y405 / 25
4180+ 0.0
pl -35.32+ 0.00

TP delay

TVC(c,b ch) (0 6,9

== pO

[ns]

-1 nu.puse+u4 / 25
4229+ 0.0
pl -36.41+ 0.00

TP delay

TVC(C, bch) (0,6,13

[ns]

T inaizose+ud [ 25
4218+ 0.0
-35.21+ 0.00

PR BRSNS |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (0,6,2)

v3/19/25
4203+ 0.0
-35.75+ 0.00

[

- PO
pl

TP delay [ns]

TVC(cbch) (06,6

= pO

pl

- u38e+u4 / 25
4199+ 0.0
-35.95+ 0.00

TP delay [ns]

TVC(cbch) (0, 6 10

- DO

T rnuigyole+ud / 25
4254+ 0.0
-37.24+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,6,14

T nuiLuLse+u4 / 25
4222+ 0.0
pl -35.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3)

vy38 /25
4221+ 0.0
-36.37 + 0.00

e

[, pO
pl

TP delay [ns]

TVC(c,b ch) (0 6,7

RIS

= po
pl

18ze+U4 [ 25
4195+ 0.0
-34.98 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

SRALVA biée+l}4/25
4267+ 0.0
-37.59 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T nai148e+u4 / 25
4223+ 0.0
-35.64+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0

K™ nuiLu4ze+04 /25
- po 4203+ 0.0
pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (07,4

=i uB3e+u4 / 25
- pO 4222+ 0.0
pl -35.53+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T zo0e+u4 /25
= po 4236+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0,7,12

T rnuiLsyle+u4 / 25
= po 4222+ 0.0
pl -34.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1

AT 1L usse+u4 [ 25
P, po 4214+ 0.0
pl -37.83+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

=1 nui 3yse+ud [ 25
4226+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (0 7,9

T nue.Urbe+ud [ 25
- pO 4244+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(C, bch) (0,7,13

Tinuin3/e+ud [ 25
- pO 4240+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,7,2)

K™ 1 nui ioe+u4 / 25
_- po 4237+ 0.0
o pl -38.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

Tnun134e+04 /25
- pO 4226+ 0.0
- pl -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

T g foe+u4 /25
= po 4259+ 0.0
- pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T rnuiLzive+ud | 25
F-. pD 4240+ 0.0
L pl -35.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT 1 nuiLuoze+ud [ 25
- po 4233+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nui 4nye+04 / 25
- pO 4221+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, uue+u4/25
= pO 4261+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

T naiazse+ud [ 25
e pO 4252+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

[

TVC(c,b,ch)=(0, 8,0)
T r

Bo28 /25
4217+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (O 8,4

)

rnar” szs9 /25
4220+ 0.0
-35.1+ 0.0

0

p0
pl
TP delay [ns]
TVC(cbch) (O 8,8)
“rnuzpoyle+ud / 25
= pO 4240+ 0.0
pl -36.58 + 0.00
TP delay [ns]
TVC(Cbch) (0o, 8 12)
-1 i bupbe+ud / 25
= po 4257+ 0.0
pl -37.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81)

[

[ po

p1

BY27 125
4201+ 0.0
-35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

- rnuiLuz/e+u4 [ 25
4213+ 0.0
-34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

Tana g/ /e+ud [ 25
4255+ 0.0
-36.03 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 8 13

T inai zae+ud [ 25
4267+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,8,2)

[

= PO
pl

1509 /25
4214+ 0.0
-35.84 + 0.00

TP delay [ns]

TVC(cbch) (0,86

Tnun1.43e+04 /25
- pO 4236+ 0.0
- -35.8+ 0.0

TP delay [ns]

TVC(eb,oh)=(0, 8, 10

pO
pl

T nuig343e+04 / 25
4284+ 0.0
-37.15+ 0.00

1
100

TP delay [ns]

TVC(Cbch) (0,8,14

X- 1 13 e+ud [ 25
o, po 4266+ 0.0
[ p1 -37.59+ 0.

-37.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,83)

o=, pO

pl

“rnun use+ud [ 25
4233+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- pO
p1

-1 nui 3v8e+u4 / 25
4241+ 0.0
-35.66 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 8

AL 541e+u4/25
4276+ 0.0
-36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8 15

- i usYe+u4 [ 25
4258+ 0.0
-36.61+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

X1 na ):1007 125
o po 4185+ 0.0
pl _ -357%0.0

TP delay [ns]

TVC(cbch) (0,9,4

s rna Y658 / 25
== po 4183+ 0.0
pl -35.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

T L/ r4e+04 | 25
po 4218+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

Ty re+u4 /25
= po 4223+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

S g9/ 25
= pO 4181% 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

=1 Ui Uobe+u4 / 25
e, pO 4201% 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

T nug gyle+ud / 25
= po 4213+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

T nuiL 1bve+ud / 25
= pO 4199+ 0.0
pl -34.55+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,9,2)

T La1e+U4/ 25
- pO 4201+ 0.0
[ p1 -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

-1 nunLusze+u4 [ 25
4201+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (0, 9 10

© 1 nuz zoge+ud | 25
= po 4250+ 0.0
L pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,14

- C = 29.21 [ps/ch]

Srua 7 yss5/25
- pD 4210+ 0.0
L p1 -34.24.+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3

AT 1 nuiLuL4e+U4 [ 25
- po 4202+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (0,9,7

-1 nui 244e+04 [ 25
e, pO 4217+ 0.0
pL -36.78:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 9

T b‘Jée+U4/25
- pO 4248+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(C, bch) (09,15

Tonany zze+ud | 25
4225+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

i

po
pL

TVC(c,b,ch)=( 0, 10, 0)
T r

8126 /25
4210+ 0.0
-34.25+ 0.00

[ C =29.20 [ps/ch]

1
50 100

TP delay

TVC(cbch) (0,104

pO
pL

[ns]

T i 1.0ze+u4 /25
4227+ 0.0
-36.67 + 0.00

50 10‘0
TP delay

TVC(cbch) (0, 10 8

- pD

[ns]

T rnuiLzr4e+04 [ 25
4216+ 0.0
pl -35.37 + 0.00

TP delay

TVC(cbch) (0,10, 12

[ns]

T rnuiLgise+u4 / 25
4261+ 0.0
pl -36.75+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

A

- po
pL

-3

8306 / 25
4207+ 0.0
4.41+ 0.00

[ C =29.06 [ps/ch]

1 1
50 100

TP delay

TVC(c, bch) (0,10,5

F- pO

[ns]

“nui1b/e+04 / 25
4235+ 0.0
pl -37.39+ 0.00

TP delay

TVC(c,b ch) (0, 10

e, po

[ns]

T nuig 3 /oe+ud [ 25
4234+ 0.0
pl -36.64 + 0.00

TP delay

TVC(cbch) (010,13

== po

[ns]

T inai ssze+ud [ 25
4255+ 0.0
pl -36.15+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

1000

0

1000

TVC(c,b,ch)=( 0, 10, 2)

ur

T
- PO

X1 808 /25
4215+ 0.0
p1 -34.76:+ 0.00

TP delay

TVC(cbch) (0.10,6

[ns]

-1 nuigz4ze+04 [ 25
4236+ 0.0
pl -36.84 + 0.00

- "
L C = 27.15 [ps/ch .
o N
TP delay [ns]

TVC(cbch) (0, 10 10

F- o

©1nuiz1yse+u4 [ 25
4255+ 0.0
pl -36.75+ 0.00

TP delay

TVC(cbch) (0.10,14

- pD

[ns]

~ 1L syve+ud [ 25
4264+ 0.0
pl -37.02+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0, 10 3)

nut

pO

o vo26 /25
4230+ 0.0
p1 -34.94+ 0.00

TP delay

TVC(c, bch) (0,10,7

o, pO

pL 3

[ns]

Snun1.73e+04 [ 25
4259+ 0.0
7.31+ 0.00

50 100
TP delay

TVC(cbch) (o, 10 1

[ns]

T nui418e+04 / 25
4251+ 0.0
p1 -35.23+ 0.00

TP delay

TVC(cbch) (0,10,15

[ns]

Tinuig1ze+u4 /25
4258+ 0.0
p1 -37.27+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(0, 11,0)

.. po

Ko Cuss2/25
4159+ 0.0
p1 -34.72:+ 0.00

TP delay

TVC(cbch) (o, 11 4

wr

[ns]

8498/ 25
4166+ 0.0
-34.16 + 0.00

= pO

pL
C =29.28 [ps/ch] ]

_ o
TP delay [ns]

TVC(cbch) (0,11,8) —

T iy ry3e+ud 5
=y pO 4188:‘

pl -34.79+ 0.00

TP delay

TVC(c,b Ch) (0,11,12

[ns]

A~ 1 nuiL 1yoe+u4 / 25
o, po 4214+ 0.0
p1 -35.78+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

s

- po
pL

vau7 /25
4162+ 0.0
-35.29+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (0, 11 5

ut

Y330/ 25
4192+ 0.0
-34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 11

== pO

pl

Tinai141e+04 /25
4211+ 0.0
-34.78 + 0.00

TP delay [ns]

TVC(c,b ch) (o, 11 13

- pO
p1

T naiLylye+ud / 25
4207+ 0.0
-35.59+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(c,b ch) (0,11,

ar

=, PO

2)

9348/ 25
4176+ 0.0
p1 -35.19+ 0.00

TP delay

TVC(chh) (o, 11 6

= PO

[ns]

©nuiLu4be+u4 / 25
4214+ 0.0
pl -36.06 + 0.00

TP delay

TVC(e,Deh)=(0, 11, 10

[ns]

X~ 1 nuiz.4z2e+04 125
bese, po 4199+ 0.0
o pl -34.38 + 0.00

TP delay

TVC(c,b Ch) (0,11, 14

[ns]

A~ 1 nuiL 1yoe+u4 / 25
= po 4219+ 0.0
L p1 -36.15+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (o, 11 3)

- 1Ube+ud /25
4186 + 0.0
p1 -35.12:+ 0.00

pO

TP delay

TVC(CbCh) (0, 11 7

e pO

[ns]

-1 nui uzye+u4 / 25
4198+ 0.0
pl -34.29 + 0.00

TP delay

TVC(Deh)=(0, 11, 11

= pO

[ns]

-1 by4e+u4 [ 25
4216+ 0.0
pl -35.33+ 0.00

TP delay

TVC(c,b Ch) (o, 11 15

. pO

[ns]

- i pyse+ud [ 25
4213% 0.0
p1 -34.92+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 12, 0)

T LAl (8U5 /25
[ po 4209+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (0,124

- i 130e+04 / 25
- pO 4219+ 0.0
pl -37.89 + 0.00

TP delay [ns]

TVC(cbch) (0, 12 8

T nuiLb3se+u4 / 25
- PD 4206+ 0.0
pl -36.79+ 0.00

TP delay [ns]

TVC(cbch) (0,12,12

TanuiLgize+ud [ 25
- PO 4222+ 0.0
pl -35.74+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,12,1)

S yns1/25
- PO 4219+ 0.0
pl -37.78 + 0.00

TP delay [ns]

TVC(cbch) (0,125

Cnun 1ze+04 /25
- DU 4210+ 0.0
pL -37.33+ 0.00

TP delay [ns]

TVC(c,b ch) (0,12,9

T nu.z43e+04 25
- DO 4226+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

T 1sbe+u4 / 25
- PO 4224+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(c,b,ch)=( 0, 12, 2)

T LAl B8/07/25
- PO 4215 0.0
3 Pl -3653% 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

-1 nuiLz94e+04 [ 25
- pO 4215+ 0.0
F pl -37.04 % 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

1000

0

T a5 oe+u4 [ 25
- DO 4239+ 0.0
I pl -36.52 + 0.00

TP delay [ns]

TVC(cbch) (0.12,14

~1nuiL 149e+04 / 25
- pD 4231+ 0.0
F pl -35.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,12,3)

S wyvl/25
- PO 4239+ 0.0
pl_ -37.03% 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

T 3bze+ud [ 25
- PO 4243+ 0.0
Pl -37.33% 000

50 100
TP delay [ns]

TVC(cbch) (0,12, 11

-1 nuiL ygge+ud / 25
- pO 4252+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

T 134e+04 [ 25
- pO 4230+ 0.0
pl -36.36 + 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

T yzze+u4 [ 25
pO 4218+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (0,134

4000

3000

2000

1000

- i bzze+u4 | 25
- pO 4236+ 0.0
pl -37.12:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 13 8

4000

3000

2000

1000

1 nuz.ggoe+u4 | 25
- po 4263+ 0.0
-34.56 + 0.00

I C =28.93 [ps/ch]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(chh) (0,13,1)

AT 1 nuiLsuve+ud [ 25
- po 4216+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(c, bch) (0,135

-1 nui 155e+04 / 25
- pO 4240+ 0.0
pL -37.18 0.00

TP delay [ns]

TVC(c,b ch) (0, 13

-1 naiyuzge+ud | 25
- po 4286+ 0.0
-34.58 + 0.00

1000 C = 28.92 [pS/Ch]

0

50

1
100

TP delay [ns]

TVC(cbch) (0,13,12

4000

3000

2000

1000

T rnuz53pe+u4 / 25
pO 4252+ 0.0
pl -34.57 + 0.00

[ C =28.92 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

1
50 100

TP delay [ns]

TVC(cbch) (013,13

-1 nuiz.quve+ud 25
4253+ 0.0
-35.91+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (0,13,2)

TP delay [ns]

TVC(cbch) (0.13,6

A1 L sye+ud | 25
_- po 4222+ 0.0
- pl -35.65+ 0.00

3000

=1L BUse+u4 / 25
- pO 4261+ 0.0
[ pl -37.35+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

T rnug.urge+ud | 25
po 4305+ 0.0
p1 -34.86 % 0.00

- C = 28.69 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (0,13, 14

Tz bsse+ud [ 25
. pD 4252+ 0.0
L pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

A rwvgu/e+u4/25
= po 4241+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(c, bch) (0,137

-1 nui goye+u4 / 25
- pO 4253+ 0.0
pL -36.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

1 nuis.yyye+ud / 25
- po 4305+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (0,13,15

T inuiz fule+ud / 25
4270+ 0.0
-36.71+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 0)
T A

w " u020/25
PO 4183+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 14, 4

a 9r93/25
PO 4204+ 0.0
pl -34.79 + 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 14, 8

T rnuzgole+u4 [ 25
Po 4203+ 0.0
pl -35.51+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 12

T inuiLzuse+ud / 25
po 4224+ 0.0
pl -36.11 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 1)
T A

S you0/ 25
PO 4196+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b,ch)=(0, 14, 5

nut 9890 / 25
Y 4208+ 0.0
pl -35.03+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 14,9

1 nu.zzae+04 / 25
po 4220+ 0.0
pl -36.18 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 13)

Sona o yasa 25
po 4227+ 0.0
pl -36.51+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 2)

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 6

X rnu vesd /25
- po 4202+ 0.0
[ pl .36+ 0.0

3000

u 9983/ 25
- po 4207+ 0.0
L pl -34.15 + 0.00

- C = 29.28 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(0, 14, 10

1 nuiz,uzoe+u4 | 25
- po 4233+ 0.0
I pl -36.12+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 14

T zzse+u4 [ 25
- po 4241+ 0.0
F pl -37.28+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 0, 14, 3)
T A

S T us4)25
PO 4199+ 0.0
pl -35.34 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 7

X° 1 L pbze+U4 25
po 4208+ 0.0
p1 -34.71% 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 11

-1 nui suge+u4 / 25
po 4232+ 0.0
pl -36.21+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 14, 15

T zuge+u4 [ 25
po 4246+ 0.0
pl -37.47+ 0.00

TP delay [ns]



TVC(c,b,ch)=( 0, 15,0)
T A

4000 e
e

3000

2000 =

woo- C = 29.63 [ps/ch]

we " rus8 /25
PO 4196+ 0.0
pl -33.75+ 0.00

50

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 15, 4

a 8659 / 25
PO 4211+ 0.0
pl -36.16 + 0.00

4000 b,

3000 - -1

2000 4

1000 C -

0 EY 00 -
TP delay [ns]
TVC(c,b,ch)=(0, 15, 8
4000 5 T N

3000

2000

1000

T nuizuzse+u4 | 25
Po 4220+ 0.0
pl -35.44 + 0.00

TP delay [ns]

4000 e

3000

2000

1000

TVC(c,b,ch)=( 0, 15, 12

~ 1 nuiL soboe+ud / 25
PO 4231+ 0.0
pl -35.02 + 0.00

TP delay [ns]

4000

3000

2000 -

ol C = 30.11 [ps/ch] ™.

TVC(c,b,ch)=( 0, 15, 1)
T A

S bys6/ 25
PO 4194+ 0.0
pl -33.21% 0.00

L
50

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 15, 5

4000 o

3000

2000

w00 C = 27.43 [ps/ch ]

nut 9298 / 25
Y 4214+ 0.0
pl -36.45+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 15,9

4000 em,

3000

2000

1000

T inai s ae+04 [ 25
po 4258+ 0.0
pl -35.53 + 0.00

TP delay [ns]

4000 e

3000 -

2000

1000 |~

TVC(c,b,ch)=( 0, 15, 13

~ 1 nuiybze+ud / 25
po 4222+ 0.0
-34.87+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 fm,

:

10002' C =27.60 [ps/ch . ‘
! "

4000

3000

2000

1000

- C =28.21 [ps/ch

TVC(c,b,ch)=( 0, 15, 2)
T A

we g1/ 25
po 4217+ 0.0
pl -35.45+ 0.00

50

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 15, 6

- nuiLulle+ud / 25
LY 4219+ 0.0
pl -36.58+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 15, 10

Tz ysze+ud | 25
po 4278+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 0, 15, 14

T L usse+u4 / 25
po 4219+ 0.0
-34.55+ 0.00

TP delay [ns]

4000 [

3000

2000

1000

TVC(c,b,ch)=( 0, 15, 3)
T A

S 74yl 25
PO 4212+ 0.0
pl -35.01+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 0, 15, 7

2000

3000

2000 -

1000 [~ C

X" 1 10IL 23be+U4 | 25
po 4235+ 0.0
pL -36.73+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(0, 15, 11

4000 ey

3000 -

2000 =

w00~ C = 28.92 [ps/ch]

T nuibyle+u4 / 25
po 4254+ 0.0
pl -34.58 + 0.00

50

1
100

TP delay [ns]

4000 o

3000

2000

1000

TVC(c,b,ch)=( 0, 15, 15

T ubre+u4 /25
po 4228+ 0.0
pl -35.07 + 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

AT inuiLuire+ud /25
P, po 4184+ 0.0
pl -36.36+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

T i zzze+04 | 25
4166+ 0.0
-36.1+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T rnuiLyzze+04 | 25
= po 4190+ 0.0
p1 345+ 0.0

TP delay [ns]

TVC(cbch) (1,0,12

T zose+u4 | 25
= po 4202+ 0.0
pl -35.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT rnunlsze+ud [ 25
- po 4187+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O

- /L Z19e+U4 25
pO 4175+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nup.414e+04 / 25
po 4211+ 0.0
p1 -34,69 £ 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

~ 1 nui sbye+ud / 25
pO 4201% 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,0,2)

A7 1 nuiLu4se+u4 / 25
i po 4180+ 0.0
[ p1 -35.69 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

T35 /e+04 [ 25
= pO 4185+ 0.0
3 pl -35.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

Tz, r1pe+u4 | 25
4229+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(cbch) (1,0,14

T rnuiLgrve+u4 [ 25
4215+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3)

AT rnun 1 ze+U4 /25
- po 4203+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

-1 nui byae+u4 [ 25
e, pO 4195+ 0.0
p1 -36.43+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T, /14e+u4/25
= po 4237+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

T nai n3ze+ud [ 25
= pO 4208+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,1,0)
T Ao

ur Yoo4 /25
4177+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1,1, 4

11urL,09ze+04 [ 25
4176+ 0.0
-35.74 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 8

po
p1

T i 134e+04 / 25
4195+ 0.0
-34.72+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1, 1

Trwniae+u4 /25
4212+ 0.0
-36.45+ 0.00

po
p1

,12

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

e

TVC(c,b,ch)=(1,1,1)
T A

=, po

- 89U3 /25
4197+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1,1,5

= rnui Tyze+ud / 25
== po 4194+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 1,9

T nu, 1ze+u4 / 25
= po 4220+ 0.0
-34.39 + 0.00

I C =29.08 [ps/ch]

1
50 100

TP delay [ns]
TVC(c,b,ch)=(1, 1, 13)
_ i x-rmu 7 gye5 /25
= po 4205+ 0.0
p1 -36.87 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1, 1,2)

AT 1nuiLurie+u4 /25
po 4196+ 0.0
p1 -35.4+ 0.0

- C = 28.25 [ps/ch .

+ h

TP delay [ns]
TVC(c,b,ch)=(1,1,6)

: X™ 1 nuiL 209e+04 / 25
E-. po 42035‘
: pl -36.09 + 0.00
- C =27.71 [ps/ch ]

o+ o

TP delay [ns]

TVC(c,b,ch)=(1, 1, 10

- C = 28.98 [ps/ch]

1 nuiLyuve+u4 / 25
po 4228+ 0.0
p1 -34.51+ 0.00

0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 14

T 1nse+ud [ 25
po 4214+ 0.0
pl -36.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(1,1, 3)
T A

S 7900725
Eee.. po 4204+ 0.0
pL -35.05+ 0.00

TP delay [ns]

TVC(c,b,ch)=(1,1,7

= 1 i 0ade+ud | 25
= po 4203+ 0.0
pl -35.29 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1,1,11

TonaiL s/ e+u4 /25
- po 4231+ 0.0
pl -35.16 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(1, 1, 15

TinuaiLyrie+ud /25
- po 4205+ 0.0
p1 -35.34+ 0.00

P IR S S
50 100

TP delay [ns]



TVC(c,b,ch)=( 1, 2,0) TVC(c,b,ch)=( 1,2, 1) TVC(c,b,ch)=( 1, 2, 2) TVC(c,b,ch)=( 1, 2, 3)
AT B2 /25 AT yri2/25 AT 8302 /25 A B3 / 25
4000 (e, ' po 4196+ 0.0 4000 fom,, ' po 4197+ 0.0 4000 e, ' po 4210+ 0.0 4000 o, ' po 4204+ 0.0
pl -36.76:+ 0.00 pL -35.34+ 0.00 r pl 35,78 0.00 pL -34.74+ 0.00

3000

1 3000 N 3000

=1 3000

2000 N 2000 N 2000~ 2000

1000 1000 1000

. wof C = 27.95 [ps/ch

0, _L 1 1 1 ] 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 2, 4) TVC(c,b,ch)=(1, 2, 5) TVC(c,b,ch)=( 1, 2, 6) TVC(c,b,ch)=(1, 2, 7)
. X© 1L 2y/e+04 [ 25 . X™ U 1753e+04 / 25 . X" 1 i 29ve+04 [ 25 . A 1L ayge+ud | 25
4000 foem,, po 4214 0.0 4000 fae, po 4232+ 0.0 4000 fame, po 42413 0.0 4000 f po 4238+ 0.0
pl -35.95 + 0.00 pL -35.87 + 0.00 3 pl -36.05:+ 0.00 pL -35.74 + 0.00
3000~ 4 3000 - 3000 — — 3000 E
2000 - T 2000 - 2000 . 2000 1
1000 C . 1000 1 woo- C = 27.74 [ps/ch 7 w00l C = 27.98 [ps/ch ]
1 1 - 1 1 s 1 1 ™ 1 1 -
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 2, 8) TVC(c,b,ch)=(1,2,9) TVC(c,b,ch)=( 1, 2, 10) TVC(c,b,ch)=(1, 2, 11)
4000 E T X~ 1 i yoge+u4 / 25 2000 E T X7, 142e+04 1 25 4000 E T X~ 1 roze+U4 /25 1000 E T X~ 1 nuiL4Bae+u4 | 25
- po 4198+ 0.0 - po 4220+ 0.0 = po 4229+ 0.0 - po 4251+ 0.0
pl -35.03 + 0.00 pL -35.18 + 0.00 [ pl -35.23+ 0.00 pL -35.98  0.00
3000 — 3000 - 3000 — — 3000 -
2000 - 2000 - 2000 ] 2000 E

1000 E 1000 . 1000

] wol- C = 28.39 [ps/ch

1 3 1 4 1
50 100 0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 2, 12) TVC(c,b,ch)=(1, 2, 13) TVC(c,b,ch)=( 1, 2, 14) TVC(c,b,ch)=(1, 2, 15)
T X~ 1 buse+u4 /25 T A~ 1 suse+ud | 25 T X- 1w rz1e+04 [ 25 T A~ 1 ge+ud /25
4000 ., po 4241+ 0.0 4000 po 4239+ 0.0 4000 [, po 4240+ 0.0 4000 [, po 4236+ 0.0
pl -36.8 + 0.0 pL -37.31+ 0.00 [ pl -36.28 + 0.00 pL -36.27 + 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

P I | M B B M BT N
50 00 50 100 50 T00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

T ive+ud /25
pO 4207+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,34

)
~nuiL 148e+04 / 25
- pO 4201+ 0.0
pl -37.26 + 0.00
[ C=26.84[psl/c ]
1 1 -'.
50 100
TP delay [ns]
TVC(cbch) (1 3,8)
T rnun 1 yoe+ud /25
= pO 4231+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (1,312

TrnuiLzyre+u4 [ 25
pO 4194+ 0.0
pl -33.46 + 0.00

[ C =29.88 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

x- 1L 2sae+Ud | 25
., po 4208+ 0.0
pL -35.9+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 3

- nun 3z2/e+04 [ 25
pO 4232+ 0.0
pL -38.53+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

~ 1 nuigbzze+u4 [ 25
po 4249+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,3,13

T nai zoge+ud / 25
4196+ 0.0
-33.59+ 0.00

[ C=29.77 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

AT zzze+04 /25
po 4211+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

TVC(cbch) (1,36

-1 nunL398e+u4 / 25
pO 4232+ 0.0
pl -38.36+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1L beoe+u4 / 25
po 4271+ 0.0
p1 -35.94 % 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Sruae 7 0u9 /25
pD 4191+ 0.0
pl -33.49 £ 0.00

- C = 29.86 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

AT 1L zane+ud [ 25
po 4226+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

-1 nui Zble+u4 / 25
pO 4238+ 0.0
pL -37.97+ 0.00

TVC(c,b ch) (1, 3

50 100
TP delay [ns]

T uuse+u4/25
po 4255+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

T nai z43e+04 [ 25
pO 4200+ 0.0
-34.16 + 0.00

[ C=29.27 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

' po

A7 1nui 1zoe+u4 /25
4222+ 0.0
pl -38.43+ 0.00

TP delay

TVC(cbch) (14,4

- PO
pL

L=
50 100

[ns]

- i 114e+04 / 25
4203+ 0.0
-35.08 + 0.00

50 10‘0
TP delay

TVC(ebioh)=(1, 4,8

== pD

[ns]

1 nuz.goge+u4 | 25
4243+ 0.0
pl -36.69 + 0.00

TP delay

TVC(cbch) (1,412

B pO

[ns]

T rnuiL4yse+ud / 25
4209+ 0.0
pl -35.04 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1)

. PO

AL 2a(e+U4 ] 25
4226+ 0.0
-38.99+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 4

F- pO

- 1nui 1ble+u4 / 25
4218+ 0.0
-36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1,4,9

X1,

— po

r11e+04 /25
4270+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

T inuioyle+ud [ 25
4218+ 0.0
-35.98 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

- po

AT zize+04 /25
4228+ 0.0
pl -38.13+ 0.00

TP delay

TVC(cbch) (1,4,6

pO
p1

[ns]

©1nuiL443e+04 | 25
4222+ 0.0
-36.58 + 0.00

TP delay

TVC(ebeh)=(1, 4, 10

0

- o

[ns]

T nuig.zg4e+u4 | 25
4291+ 0.0
p1 -37.49 + 0.00

TP delay

TVC(cbch) (1,414

- PD

[ns]

T 13ye+ud /25
4221+ 0.0
pl -35.89+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

pl

AT rnuiLsyie+ud [ 25
4230+ 0.0
-37.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

Fo=. pO
pl

-1 nu Zgbe+u4 [ 25
4229+ 0.0
-35.84 % 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= pO
pl

1)
-1 nuiz.yuse+ud / 25
4278+ 0.0
-36.46 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

= po

p1

-1 nui ouye+ud / 25
4213+ 0.0
-36.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0)

T Lose+ud /25
- pO 4192+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (1,54

= 1L uBYe+ud / 25
o, pO 4225+ 0.0
pl -36.00+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

Tz ie+u4 [ 25
po 4236+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(cbch) (1,512

T Lgse+ud /25
pO 4253+ 0.0
pl -36.05+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

AT rnuiLbsie+ud /25
Frase po 4197+ 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui Zole+u4d / 25
pO 4226+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

1 nuiLy4ye+us / 25
- po 4260+ 0.0
p1 -36.29+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,13

TinuiL gy /e+ud [ 25
- pO 4249+ 0.0
-35.91+ 0.00

PR BRSNS |
50 100

TP delay [ns]
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3000
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1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,5,2)

K™ 1 nui roye+u4 / 25
po 4201+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(cbch) (1,56

- nuiL 1yge+u4 / 25
- pO 4243+ 0.0
[ pl -36.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

T nuig,3z3e+04 [ 25
- po 4274+ 0.0
- pl -37.05+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,5,14

T szse+u4 [ 25
- pD 4247+ 0.0
L -35.61+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

AT 1 nuiLyube+u4 [ 25
P po 4210+ 0.0
pl -35.16+ 0.00

[ C =28.44 [ps/ch ]
TP delay [ns]

TVC(c,b ch) (1 57

-1 nun Z3be+u4 / 25
- pO 42441 0.0
pL -35.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

ERALEVX bzze+u4/25
- po 4282+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,15

T nui ssae+u4 / 25
- pO 4258+ 0.0
-35.71+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

PSR

14ze+U4 [ 25
4194+ 0.0
-37.22+ 0.00

TP delay [ns]

TVC(cbch) (1,64

8825/ 25
4221+ 0.0
-36.87 + 0.00

- po na
p1
FC N
1 1 -1-
50 100
TP delay [ns]
TVC(eb.ch)=(1,6,8)
T L, r3ze+04 [ 25
- po 4223+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

po
p1

T L4 rse+u4 / 25
4233+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,1)

[ pO

T Lz1e+ud /25
4199+ 0.0
-36.76 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

S nun1use+ud [ 25
4219+ 0.0
-36.3 % 0.0

TP delay [ns]

TVC(c,b ch) (1 6,9

- hug,
o= pO
pL

[19e+U4 | 25
4242+ 0.0
-35.34 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

T nai syze+ud / 25
4229+ 0.0
-36.56 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (1,6,2)

= PO

X~ 1L zose+u4 | 25
4206+ 0.0
-37.58+ 0.00

pl

TP delay [ns]

TVC(ehch)=( 16,6

i

= P°
p1

919125
4221+ 0.0
-35.76 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

- b

- 1 nuiL s0se+u4 / 25
4257+ 0.0
-35.12+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,614

- 1 z8oe+u4 [ 25
4223+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (1,6,
- 0
pl

3

nui zuve+ud / 25
4214+ 0.0
-36+ 0.0

TVC(c,b ch) (1 6,7

-
pO
pl

1
100

TP delay [ns]

nuiL uze+u4 / 25
4221+ 0.0
-35.21+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

= pO

pl

Sy zue+u4/25
4247+ 0.0
-34.77 + 0.00

[ C =28.76 [ps/ch]

1
100

50
TP delay [ns]
TVC(c,b ch) (1, 6 15)
- rnui4ure+u4 /25
= po 4215+ 0.0
-36.29 + 0.00

TP delay [ns]



TVC(c,b,ch)=(1,7,0) TVC(c,b,ch)=(1,7,1) TVC(c,b,ch)=(1,7,2) TVC(c,b,ch)=(1,7,3
T Ao T T r T

u Yoy7 /25 AT nuiL139e+u4 [ 25 T Yo7 /25 AT rnuiLzz/e+u4 [ 25
4000 (e, po 4186+ 0.0 4000 fom,, po 4204+ 0.0 4000 o, po 4197+ 0.0 4000 e, po 4214+ 0.0
pl -35.53:+ 0.00 pL -36.43+ 0.00 3 pl -35.65:+ 0.00 pL -36.71% 0.00

- 3000

3000 =1 3000 - -1 3000 -

2000 -1 2000 -1 2000~ =1 2000

1000 E 1000 E 1000

] wol- C = 28.05 [ps/ch

| 1 o

0 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 7, 4) TVC(c,b,ch)=(1,7,5) TVC(c,b,ch)=(1, 7, 6) TVC(c,b,ch)=(1,7,7)
T X7 1104/ 25 T X™rnunLuzre+ud [ 25 T X~ 1L 1bze+04 [ 25 T X~ 1 nur 1y3e+u4 [ 25
4000 fom, po 4198+ 0.0 4000 e, po 4196+ 0.0 4000 e, po 4241 0.0 4000 e, po 4222+ 0.0
pl -36.80 + 0.00 pL -36.67 + 0.00 [ pl -37.11+ 0.00 -37.4% 0.0
3000~ - 3000 - 3000 — — 3000 -
2000 - E 2000 - 2000 3 2000 E
woo- C = 27.10 [ps/c ] 1000 ] wool- C = 26.95 [ps/ch 7] 1000 ]
0 EY 00 - 0 5 0o of EY 0 0 -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 7, 8) TVC(c,b,ch)=(1,7,9) TVC(c,b,ch)=( 1, 7, 10) TVC(c,b,ch)=(1, 7, 11)
- T X~ 1 nuizgyve+u4 [ 25 = T AT yrre+ud [ 25 4000 E T X~ 1 nuizpave+ud [ 25 1000 E T A1 nuiLbzae+u4 [ 25
4000 e po 4220+ 0.0 4000 po 4222+ 0.0 = po 4229+ 0.0 - po 4241+ 0.0
pl -36.54 + 0.00 pL -35.86 + 0.00 [ pl -36+ 0.0 pL -36.67 + 0.00
3000 - 3000 - a000f- ] 3000 -
2000 1 2000 B 2000 L ] 2000 -

1000 - 1000 - 1000

. wol- C = 27.78 [ps/ch

o 1 1 1 L o1 0 1 [
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 7, 12) TVC(c,b,ch)=(1, 7, 13) TVC(c,b,ch)=( 1, 7, 14) TVC(c,b,ch)=(1, 7, 15)
T AT 9115125 T K- 1nuLyrze+ud | 25 T X 1L uzie+ud [ 25 T A~ rnanginie+ud /25
4000 k=, pO 4228+ 0.0 4000 PO 4230£ 00 4000 o, PO 4225+ 00 4000, PO 4233£ 00
pl -35.55 + 0.00 pL -36.49 + 0.00 [ pl -35.55 + 0.00 pL -35.75+ 0.00

3000 -1 3000 T 3000 -1 3000 -1

2000 -1 2000 T 2000 -1 2000

1000 4 1000 1000 E 1000

PR BRSNS |
50 100

P IR S S
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0

X~ 1 140e+04 [ 25
™, PO 4175+ 0.0
pl -36.1% 0.0

TP delay [ns]

TVC(cbch) (1,84

Tnu yzz9/25
- pO 4215+ 0.0
pl -37.94+ 0.00

1=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

T i, ro4e+04 / 25
- PD 4205+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T inuiLz41e+04 / 25
- PO 4240+ 0.0
pl -36.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT rmuLurse+ud [ 25
- po 4203+ 0.0
pl -37.17+ 0.00

TP delay [ns]

TVC(cbch) (185

Trna ybbl /25
DU 4207+ 0.0
pL -37.46 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

~ 1 nuw.Bzze+u4 [ 25
DO 4232+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

T usre+ud [ 25
PO 4222+ 0.0
pl -35.39 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

1000

X~ i 147e+04 /25
- PO 4205+ 0.0
I pl -36.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,86

- 1 uoe+ud | 25
- pO 4210+ 0.0
r pl -37.15+ 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

T 1nuzpole+ud [ 25
- DO 4243+ 0.0
r pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

T nuiLzote+ud / 25
- PD 4240+ 0.0
I pl -37.16 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3

AT 1 nuiL1b3e+u4 / 25
e PO 4209+ 0.0
p1 -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nui 140e+04 / 25
= PO 4211+ 0.0
pL -37.26 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

SRR /U/e+U4/25
- pO 4237+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

T uyle+u4 / 25
= pO 4239 0.0
pl -35.95+ 0.00

TP delay [ns]



TVC(eh.eh=(1,9,0)

X1,

4000 [

Lzve+u4 | 25
4197+ 0.0
-36.23+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (1,94

nu

4000 [

v/89/25
4212+ 0.0
-36.38 + 0.00

- PO
pl
3000 7
2000 ]
1000~ C ]
o = 5
TP delay [ns]
TVC(eheh=(1,9,8)
ok - 1 nui 135e+04 / 25
E pD 4183+ 0.0
-34.05 + 0.00
3000~ ]
2000 - ]

w0 C = 29.37 [ps/ch]

1
5 50 100

TP delay [ns]

TVC(CbCh) (1,912

2000 po

p1

Lo e+u4 [ 25
4209+ 0.0
-34.87 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.ch=(1.9,1)

x-rma T y1/0/25
- PO 4207+ 0.0
pL -35.94 £ 0.00

TP delay [ns]

TVC(cbch) (19,5

Sinar C wyi2/25
- pO 4225+ 0.0
p1 -36.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1,909

S nuig1/e+ud [ 25
£ pO 4215 0.0
p1 23477+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 9, 13

- 1zze+u4 [ 25
E 4197+ 0.0
-34.26 + 0.00

[ C =29.19 [ps/ch] ]

P I |
=% 00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(eh.eh=(1,9,2)

- P

pl

K™ 1o Lsze+04 [ 25
4203+ 0.0
-36.34 + 0.00

TP delay [ns]

TVC(cbch) (1,96

i

- b
p1

Yo37 /25
4231+ 0.0
-37.06 + 0.00

TP delay [ns]

TVC(e.b.eh)=( 1, 9 10

P po

Sz 373e+04 [ 25
4232+ 0.0
-35.69 % 0.00

pl

TP delay [ns]

TVC(eb.ch)=(1, 9, 14

- b
- pl

-1 1Zae+04 [ 25
4203+ 0.0
-35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,93

X1 nuiLl7ze+u4 [ 25
L po 4236+ 0.0
p1 -38.21+ 0.00

TP delay [ns]

TVC(cbch) (19,7

S gus6 /25
L pO 4236+ 0.0
p1 -36.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1,91

- g jaye+u4/25
E pO 4224+ 0.0
Pl -34.24+0.00

- C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(eb.eh)=(1, 9, 15

-1 nuiLusYe+u4 | 25
e 4211+ 0.0
-34.38+ 0.00

[ C =29.09 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



TVC(c,b,ch)=(1,10,0) TVC(c,b,ch)=(1, 10,1) TVC(c,b,ch)=(1, 10, 2) TVC(c,b,ch)=(1, 10, 3)
x i y0a0/25 xormar 7 waod /25 xoomawus3/25 x- e 5s18/25
4000 e, ' po 4199+ 0.0 4000 [, ' po 4216+ 0.0 4000 (R ' po 4203+ 0.0 4000 o, ' po 4200+ 0.0
Pl -3598+ 0.00 Pl -35.96+ 0.00 3 pl 3504 0.00 Pl -34.73%0.00

3000

4 3000 - 3000 - 3000 E

2000 N 2000 -1 2000 - -1 2000

1000 - 1000

=1 1000

wof C = 28.54 [ps/ch

0 % 0% - £ S ) 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 10, 4) TVC(c,b,ch)=( 1, 10, 5) TVC(c,b,ch)=( 1, 10, 6) TVC(c,b,ch)=( 1, 10, 7)
T X7 Y3V2 /25 T X rnuar 9u13 /25 T X7 Y389 / 25 T X~ 1 114e+04 [ 25
4000 e, po 4187+ 0.0 4000 e, po 4188+ 0.0 4000 (e, po 4207+ 0.0 4000 e, po 4220+ 0.0
pl -34.55  0.00 pL -35.24 + 0.00 3 pl -35.47 % 0.00 pL -35.83 + 0.00
3000~ E 3000 - B 3000 — — 3000 —
2000 B 2000 - - 2000 — — 2000 - E
1000 C 4 1000 C - 1000:—C =28.20 [pS/Ch — 1000 C —
1 1 - 1 1 - : 1 1 - 7 1 1 -
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 10, 8) TVC(c,b,ch)=( 1, 10, 9) TVC(c,b,ch)=( 1, 10, 10) TVC(c,b,ch)=( 1, 10, 11)
T X~ 1 nuiz.a88e+04 | 25 T AT 1. yyle+ud [ 25 T X~ 1 nui pyve+u4 [ 25 T A7 nuiL4r8e+u4 [ 25
4000 po 4232+ 0.0 4000 po 4237+ 0.0 4000 [ PO 4255+ 0.0 4000, po 4280+ 0.0
pl -37.38 + 0.00 pL -36.11. % 0.00 [ pl -36.58 + 0.00 pL -38.42.+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 . 2000 -1 2000 - 2000

1000 -1 1000 - 1000 -1 1000

0 1

% EY 0 50 T o 50 00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(1, 10, 12) TVC(c,b,ch)=(1, 10, 13) TVC(c,b,ch)=(1, 10, 14) TVC(c,b,ch)=(1, 10, 15)

T AT yys3 /25 T AT 1 yyz2 /25 T X~ 1w 18be+04 [ 25 T X~ 1L ugve+ud | 25
4000 po 4226+ 0.0 4000 . po 4230+ 0.0 4000 po 4230+ 0.0 4000 o, po 4215+ 0.0
pL -34.01+ 0.00 pl  -33.07+0.00 L Pl -35.03+0.00 -33.79.+ 0.00

3000 B 3000 [ — 3000 _ _ 30001 7]

2000~ T 2000 |- - 2000 :_ _: 2000 7

0001 C = 29.40 [pS/Ch] =] wor G = 30.24 [ps/ch] Y- ] 1000:_ C= ] w000 C = 29.59 [pS/Ch] .

P B | -.- P U SR | -.- P B | -.-
50 T00 50 T00 50 T00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 nuiusse+ud / 25
o= po 4203+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,114

T i 1z3e+04 / 25
- pO 4208+ 0.0
pl -35.92:+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(L, 11,8

Ty 51/e+u4 [ 25
= po 4230+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X~ 1 bb3e+u4 /25
po 4243+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT rnuiLioie+ud /25
.. po 4212+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

=1 nui Zb4e+u4 [ 25
- pO 4204+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 11, 9

~ o 1.upe+us / 25
= po 4256+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inuiayie+ud [ 25
pO 4241% 0.0
pl -36.68 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (1,11, 2)

AT rnun ) ze+ud /25
- po 4227+ 0.0
[ p1 -37.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

-1 389e+04 / 25
- pO 4223+ 0.0
[ pl -36.22+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 10

X~ 1 nuig, r89e+u4 [ 25
4274+ 0.0
-37.01% 0.00

TP delay [ns]

TVC(cbch) (1,11,14)

T p41e+u4 /25
- pD 4237+ 0.0
[ p1 -37.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1 nuiL1yoe+ud [ 25
- po 4230+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui b3ye+u4 / 25
- pO 4233+ 0.0
-36.1% 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

~ 1 nuiz s8Ye+u4 [ 25
- po 4277+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (111,15

T inuiLuroe+ud [ 25
e pO 4247+ 0.0
p1 -37.62+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(c,b,ch)=(1,12,0)

T AT 809 /25
™, po 4157+ 0.0
pl -34.85+ 0.00

TP delay [ns]

TVC(cbch) (1,124

1 nar )tsuuo 125
= p0 4174+ 0.0
pl -35.3+ 0.0

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

T B8 /e+u4 [ 25
F= pD 4199+ 0.0
pl -35.72 + 0.00

TP delay [ns]

TVC(cbch) (1,12,12

TanuiLz/1e+u4 /25
PO 4196+ 0.0
pl -35.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,12,1)

“roue T wyul /25
- pO 4165+ 0.0
pl -35.28+ 0.00

TP delay [ns]

TVC(cbch) (1,125

- nuiLul3e+ud / 25
o pO 4187+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

Tinun1b/e+ud [ 25
- DO 4204+ 0.0
pl -34.39 + 0.00

TP delay [ns]

TVC(cbch) (112,13

— T z/3e+u4 [ 25
= PO 4194 % 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(cbch) (1,12,2)

X" rnai

TP delay [ns]

TVC(c,b,ch)=( 1, 12, 6

1234125
- po 4175+ 0.0
L pl .35+ 0.0

3000

b, ,12,6)
T PaEAL v383/25
- LY 4185+ 0.0
I pl -35.42 + 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

© 1o 1 spe+ud / 25
- DO 4226+ 0.0
I pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (112,14

~ i soye+ud / 25
PD 4210+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,12,3)

S yys6/ 25
= PO 4182+ 0.0
pl -34.52 + 0.00

TP delay [ns]

TVC(c, bch) (1,127

= PO 4200£ 0.0
Pl 3564+ 000

- rnui1/0e+04 / 25

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 1

= p0 4218+ 0.0
Pl 3479+ 000

1 nuiL pzoe+u4 | 25

TP delay [ns]

TVC(cbch) (1,12,15

PO 4198+ 0.0

i zuve+ud [ 25

35.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,13,0)

X~ 1nug.4z1e+04 /25
po 4206+ 0.0
pl -37.63+ 0.00

TP delay [ns]

TVC(cbch) (1,134

- 1 1L uage+u4 25
pO 4213+ 0.0
pl -35.33+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 13 8

1 nuiL3Ype+u4 / 25
= po 4197+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,13,12

T i sode+u4 / 25
= po 4254+ 0.0
pl -36.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

P PO

p1

A1 e ad1e+U4 ] 25
4206+ 0.0
-37.04+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

pO
pl

“nuiLur3e+u4 / 25
4226+ 0.0
-35.71+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 13,9

pO
pl

Tinugaz/e+ud [ 25

4255+ 0.0
-34.84+ 0.00

[ C =28.71 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (113,13

== po

p1

T inuia18e+ud [ 25
4256+ 0.0
-37.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,13,2)

TP delay [ns]

TVC(cbch) (1,136

K™ 1 nup.y41e+04 /25
Freee po 4206+ 0.0
L pl -36.93+ 0.00

3000

T ULl /oe+u4 [ 25
- pO 4236+ 0.0
[ pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 10

T z.31e+u4 /25
F DO 4266+ 0.0
F pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (113,14

1000

~ i zode+u4 | 25
- pD 4239+ 0.0
L pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

[Foten po

AT 1 nuiy zsae+u4 | 25
4229+ 0.0
-36.41+ 0.00

p1 3

TP delay

TVC(c, bch) (1,137

o, pO

[ns]

-1 nui zoye+u4 / 25
4241+ 0.0
pl -36.47 + 0.00

TP delay

TVC(eheh)=(1, 13, 11

= pO

[ns]

T nai rz9e+04 / 25
4261+ 0.0
pl -36.02+ 0.00

TP delay

TVC(cbch) (1,13,15

[ns]

T 1nuiaqe+u4 / 25
4259+ 0.0
p1 -37.18+ 0.00

TP delay

[ns]



TVC(c,b,ch)=( 1, 14,0) TVC(c,b,ch)=(1, 14, 1) TVC(c,b,ch)=( 1, 14, 2) TVC(c,b,ch)=( 1, 14, 3)
AT byy7 /25 AT 8348/ 25 AT B2U7 /25 A 1139125
4000 e, ' PO 4203+ 0.0 4000 fom, ' Y 4196+ 0.0 4000, ' PO 4215+ 0.0 4000 e, I po 4232+ 0.0
pl -36.92+ 0.00 pl -36.28 + 0.00 : pl -36.86 + 0.00 pl -37.22+ 0.00

-1 3000

3000 -1 3000

-1 3000

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

0 0 of £ oo = 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 14, 4) TVC(c,b,ch)=( 1, 14, 5) TVC(c,b,ch)=( 1, 14, 6) TVC(c,b,ch)=(1, 14, 7)
— T PaEAL 8oyl /25 1000 E T X~ 1 nuiLulle+u4 / 25 4000 E T X~ 1L 0lbe+u4 / 25 2000 E T X~ nuiLuZYe+u4 / 25
4000 b po 4180+ 0.0 e, po 4194+ 0.0 = po 4177+ 0.0 = po 4201+ 0.0
pl -35.98+ 0.00 pl -37.29+ 0.00 [ pl -36.65 + 0.00 pl -36.33+ 0.00
3000 [~ B 3000 B 3000 — ] 3000 [ B
2000 - — 2000 - 2000 — — 2000 [ —
1000 C = 1000 - 1000:— C=27.28 [pS/Ch — 1000 C =
0 EY 00 - 0 5 T = of EY 0 0 5 o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 14, 8) TVC(c,b,ch)=(1, 14, 9) TVC(c,b,ch)=( 1, 14, 10) TVC(c,b,ch)=( 1, 14, 11)
— T X~ 1z zzze+04 125 - T X~ 1 nun g2be+u4 | 25 — T X~ 1 i yuve+u4 / 25 = T X™ 1 nuiLZb/e+u4 | 25
000k, LY 4175+ 0.0 000, po 4202+ 0.0 ) po 4226+ 0.0 4000 p0 4216+ 0.0
pl -33.32 0.00 -35.2+ 0.0 [ pl -34.97 + 0.00 pL -34.41+ 0.00
3000k J 3000 B 3000 ] 3000 [ 4
2000 R 2000 ] 2000 _ 1 20001 ]

1000

lo00r C = 29.06 [ps/ch]

1ok C = 30.01 [ps/ch] ] C = 28.60 [ps/ch

1 1 b 1 1 - E 1 1 bl £ L 1 b
0 50 100 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 1, 14, 12) TVC(c,b,ch)=( 1, 14, 13) TVC(c,b,ch)=( 1, 14, 14) TVC(c,b,ch)=( 1, 14, 15)

T X~ 11 /oe+u4 /25 T A~ 1L usre+ud /25 T Pl ¥b46 / 25 T A~ 1 1goe+u4 1 25
4000 [, po 4263+ 0.0 4000 fFe, po 4256+ 0.0 4000 [, PO 4263+ 0.0 4000 [ po 4257 0.0
pl -37.03  0.00 pL -37.54 % 0.00 3 pl -37.14 0.00 pL -36.72 + 0.00

3000 1 3000 B s000f ] 3000 1

2000 4 2000 - 2000 ] 2000 4

1000 - 1000 - 1000F C= ] 1000 -

0 0 L Eld T 0'0 I3 0 L 5:) e 0|0 ul 0 L 5& T 60 h

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(CbCh) (1, 15 0)

3000 -

2000~

1000 [~

T rnwiLu4se+ud [ 25
4000 o pO 4208+ 0.0
pl -38.1+ 0.0

TP delay [ns]

TVC(cbch) (1,154

3000 -

2000 [~

1000 [~

S InuILY7 404 [ 25
4000 . po 4228+ 0.0
pl -36.61+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

3000

2000

1000

T 133e+u4 /25
4000 . pD 4228+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

4000 [

3000

2000

1000

T~ rnuiLzude+u4 / 25
pO 4235+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(chh) (1,15,1)

4000 e po

AT rnuan1sze+ud [ 25
4211+ 0.0
pl -37.43+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,155

4000 fam, pO

pl

[ns]

-1 Ui Ub3e+u4 / 25
4231+ 0.0
-36.34 + 0.00

3000 -

2000

1000 [~ C

50 1(;0
TP delay

TVC(c, bch) (1, 15 9

4000 [, po

[ns]

T inug3rse+ud [ 25
4261+ 0.0
-36.5 % 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (115,13

4000 [

[ns]

T naiL1zoe+ud [ 25
4232+ 0.0
pl -35.56 + 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 15 2)

TP delay [ns]

TVC(c,b,ch)=(1, 15,6

T
- PO

Tona oy 1e+u4 /25
P po 4231 0.0
o pl -38.33+ 0.00

3000

x- e yuaz/25
4232+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

©nuiLysze+u4 | 25
- DO 4275+ 0.0
- pl -37.3+ 0.0

TP delay [ns]

TVC(cbch) (115,14

T rnuiLuLse+u4 / 25
- pD 4239+ 0.0
L pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT i 13se+ud [ 25
4220+ 0.0
pl -36.95+ 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

-1 nuiulye+ud / 25
4234+ 0.0
pl -35.43+ 0.00

TP delay

TVC(ebeh)=(1, 15, 11

- pO

[ns]

1 nui bzae+u4 / 25
4293+ 0.0
pl -36.47 + 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

T nuiuzse+ud [ 25
4238+ 0.0
p1 -35.35+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0)

A7 1 nuiLu4oe+u4 /25
po 4208+ 0.0
p1 -37.71% 0.00

TP delay [ns]

TVC(cbch) (2,0,4

~1ub.441e+05 / 25
4194+ 0.0
-34.8+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

Tl 141e+U06 / 25
= po 4192+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (2,0,12

T vy, 393e+U6 / 25
= po 4212+ 0.0
pl -34.69 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,01

A7 1 nuiLUboe+ud [ 25
Frase po 4223+ 0.0
pl -37.54 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

~ 1 nui /48e+U6 / 25
P pO 4199+ 0.0
p1 -34.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (2 0,9

- urz418e+U5 ] 25
- pO 4207+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(C, bch) (2,0,13

T inuny.o4e+u5 /25
- pO 4222+ 0.0
pl -35.67 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,0,2)

A7 1nui31ve+u4 /25
po 4216+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(cbch) (20,6

1000

~ Ui b15e+U6 / 25
- pO 4212+ 0.0
[ pl -35.34 0.00

3000

TP delay [ns]

TVC(cbch) (2, 0 10

~ 1 nu,104e+05 / 25
po 4230+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (2,0,14

~ 11y 404e+05 / 25
4218+ 0.0
-35.1+ 0.0

PR IR SRR |
50 100

TP delay [ns]

TVC(cbch) (2,0,3)

1a4e+U4 [ 25
4209+ 0.0
-36.37 + 0.00

PRI
po
pL

4000 ,

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (2 0,7

4000 o pO

pl

-1 nu 298e+U6 / 25
4209+ 0.0
-34.72+ 0.00

3000 -

2000 -

1000 [~ C

1
50 100

TP delay [ns]

TVC(c,b ch) (2, O

4000 oy pO

pl

T, ba/e+u6/25
4230+ 0.0
-35.94 + 0.00

3000

2000

1000

TP delay [ns]

TVC(C, bch) (2,0,15

-y,
pO
p1

4000 [Fu.

1uYe+U7 / 25
4216+ 0.0
-35.4+ 0.0

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0)

Fae po

A1 nug.u40e+U6 / 25
4216+ 0.0
pl -40.12 + 0.00

TP delay

TVC(cbch) (21,4

Frase PU
pl

[ns]

=1 nuiL, 7p4e+U5 / 25
4183+ 0.0
-35.49 + 0.00

50 10‘0
TP delay

TVC(cbch) (2,1,8

. pD

[ns]

1 nuip,549e+04 | 25
4219+ 0.0
pl -36.92+ 0.00

TP delay

TVC(cbch) (21,12

[ns]

T, plie+u6 / 25
4213+ 0.0
-35.3+ 0.0

PR B SRS |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

o po

p1

A7 1 nun bsse+U6 / 25
4216+ 0.0
-38.96 + 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

= DU

p1

-1 nug.z1ye+ud / 25
4196+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (2, 1

[, pO

© 1 nug suYe+U6 / 25
4238+ 0.0
-36.93 + 0.00

TP delay [ns]

TVC(cbch) (21,13

T nur.yule+ud / 25
4228+ 0.0
-36.55+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (2,1,2)

-37.96 + 0.00

ol roe+ud [ 25
[ PO 4223+ 0.0
F pl -37.96 + 0.

TP delay [ns]

TVC(cbch) (21,6

=/ nu,

[, pO

pl

[(1e+U4]25
4200+ 0.0
-35.88 + 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

- 90

1 UL b4se+U6 / 25
4247+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(cbch) (21,14

T rnuiL4z1e+05 /25
4220+ 0.0
-36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

o po

AT 1L Zooe+u7 /25
4216+ 0.0
p1 -37.51+ 0.00

TP delay

TVC(c,b ch) (2 1,7

P, pO

[ns]

~nu (28e+U6 / 25
4204+ 0.0
pl -35.98+ 0.00

TP delay

TVC(c,b ch) (2, 1

-, po

[ns]

T g 5bue+u6/25
4240+ 0.0
pl -36.39+ 0.00

TP delay

TVC(cbch) (21,15

e, pO

[ns]

-1 nugbzye+Us / 25
4201 0.0
pl -35.87 + 0.00

TP delay

[ns]



TVC(ehe)=(2,2,0) TVCEbe)=(2,2,1) TVC(ehe)=(2,2,2) TVC(ehe)=(2,2,3)
X~ 1 nuis.419e+U6 / 25 AT 1 nun.yyle+Us /25 X~ 1 1L booe+U6 / 25 A7 1 nuiL2yse+Us / 25
4000, po 4180+ 0.0 4000 o, po 4192+ 0.0 4000 o, po 4198+ 0.0 4000 e, po 4206+ 0.0
pL -35.31+ 0.00 pl -36.4 £ 0.0 [ Pl -36.93% 0.00 Pl -37.64 0.00

- 3000

3000 = 3000 -1 3000

2000 4 2000 - 2000 - 2000

1000 4 1000 B 1000 B 1000

0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (2 2,4) TVC(c,b Ch) (2, 2 ) TVC(c,b Ch) (2 2,6) TVC(c,b Ch) (2 2,7)
- 11U 540e+06 / 25 T 3b/e+U6 / 25 T Uy 310e+04 / 25 -1, Ubbe+U6 / 25
000, pO 4196+ 0.0 4000 B, pO 4188+ 0.0 4000 e pO 4200+ 0.0 1000 B pO 4199+ 0.0
pl 372+ 0.0 Pl -36.410.00 [ PL_ -37.13% 0.00 Pl -36.76+ 0.00
3000 =1 3000 - -1 3000 :_ _: 3000 |~ =1
2000~ - 2000 [ - 2000 ] 2000 - -
wol C = 26.88 [ps/c . woof C . wol C = 26.93 [ps/c . woof C .
0 EY 00 . 0 5 T of EY 0 = 0 5 T ==
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b Ch) (2 2,8) TVC(c,b Ch) (2 2,9) TVC(c,b, Ch) (2, 2 10) TVC(c,b Ch) (2, 2 11)
TnuLule+u6 /25 T 481e+06 / 25 ~nuy,f rye+U5 / 25 T 7 2oe+u6 / 25
4000 = pO 4198+ 0.0 4000 = 4236+ 0.0 ) DO 4228+ 0.0 4000, p0 4227+ 0.0
Pl 3539+ 0.00 -35.7+ 0.0 r PL_ -36.05% 0.00 Pl -35.73%0.00

3000 . 3000 - 3000 N 3000 -1

2000 - 2000 - 2000

. 2000

1000 . 1000 1000

- 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(221 ) TVC(cbch)(2213) TVC(cbch)(2214) TVC(cbch)(2215)
T 1L, 348e+U6 / 25 Ty, ry1e+u5 / 25 ~ 1 nug 588e+U6 / 25 T, 2 /be+u6 / 25
4000 e pO 42354 0.0 4000 pO 4227400 4000 o, PD 4227+ 0.0 4000 o, pO 4224400
pl -37.07 + 0.00 pl -36.44 + 0.00 : pl -36.87 + 0.00 pl -35.96 + 0.00

3000 -1 3000 - 3000 N 3000 T

2000 . 2000 - 2000 - 2000

1000 -1 1000 -1 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

K- rnug.z1re+U5 /25
4209+ 0.0
p1 -36.74+ 0.00

TP delay

TVC(cbch) (23,4

[ns]

-1 nuz,094e+06 / 25
4207+ 0.0
-36.51+ 0.00

= pO
p1
- C N
1 L -'
50 100
TP delay [ns]
TVC(cbch) (2,3,8)
S, f rge+u5 / 25
= po 4232+ 0.0
p1 -37.21+ 0.00

TP delay

TVC(cbch) (2,312

[ns]

T rnuiLg31e+u4 / 25
4231+ 0.0
-34.9+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

AT 1 nuiLy1ye+Us / 25
4215+ 0.0
-36.54 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (2,3,5

X~ g,

121e+U5/ 25
4202+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

= pO

pl

T nui gy1e+u6 / 25
4259+ 0.0
-37.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (2,313

X rnan

e, po
p1

4ze+u4 | 25
4229+ 0.0
-34.87+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,3,2)

= po

pl

A1z, 337e+05 /25
4211+ 0.0
-36.23+ 0.00

TP delay [ns]

TVC(cbch) (23,6

= PO

pl

=1 nuiL014e+06 / 25
4215+ 0.0
-35.86 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 3, 10

1000

= b

© i 1z8e+05 / 25
4269+ 0.0
-36.28 + 0.00

pl

TP delay [ns]

TVC(cbch) (2,3 14

F= 50
pl

1 1u,pobe+U6 / 25
4230+ 0.0
-35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

e po

AT 1 nuiLb31e+UB / 25
4211+ 0.0
-36.1+ 0.0

pl

TP delay [ns]

TVC(c,b ch) (2 3,7

= g

pO
pl

y3e+u6 / 25
4207+ 0.0
-35.51+ 0.00

[ C =28.16 [ps/ch ]
- o
TP delay [ns]

TVC(c,b ch) (2, 3

=, pO

T bz4e+u6/25
4254+ 0.0
-35.81+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2, 3 15

T inui s41e+U6 / 25
4225+ 0.0
-35.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0

X~ 1wz sa4e+U5 [ 25
P po 4203+ 0.0
p1 -35+ 0.0

TP delay [ns]

TVC(cbch) (24,4

~ U 291e+04 / 25
- pO 4212+ 0.0
p1 -35.96+ 0.00

50 10'0
TP delay [ns]

TVC(ebch)=(2,4,8

©1nug.Zo4e+U6 / 25
= po 4246+ 0.0
pl -38.29+ 0.00

1=
50 00

TP delay [ns]

TVC(cbch) (2,4,12

T Ly /oe+U6 / 25
- po 4245+ 0.0
-34.8+ 0.0

[ C =28.74 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1

AT 1 nuiLY/4e+U6 / 25
= po 4196+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(c,b ch) (2 4,5

- nu 3z1e+U6 / 25
- pO 4223+ 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

T nun5.40e+05 / 25
free, DO 4263+ 0.0
p1 -37.47 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

Tinuzz1se+ud [ 25
- pO 4232+ 0.0
p1 -35.18 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (2,4,2)

X" nai

', po
pl

zerud [ 25
4204+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (24,6

= o

p1

=1y 28oe+U5 / 25
4229+ 0.0
-36.84 + 0.00

TP delay [ns]

TVC(eb.eh)=(2, 4, 10

= 0

© 1 nuig,3ove+Us / 25
4279+ 0.0
-37.41+ 0.00

pl

TP delay [ns]

TVC(Cbch) (2, 4 14

= P"

Tnuay,1ioe+ud [ 25
4235+ 0.0
pl -35.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,3

K™ 1 nwug.4u/e+U5 /25
=3 po 4219+ 0.0
p1 -36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (2 4,7

- rnui 0z/e+u7 / 25
- pO 4234+ 0.0
p1 -36.73+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2,4,

T, mze+u7 125
- po 4272+ 0.0
-37.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (2, 4 15

T inug. r5/e+U6 / 25
. po 4238+ 0.0
p1 -35.28+ 0.00

TP delay [ns]



TVC(ehe)=(2,5,0) TVC(Ebe)=(2,5, 1) TVC(ehe)=(2,5,2) TVC(Ehe)=(2,5,3)
X~ 1 g 49pe+U5 / 25 AT 1 nuig, (o8e+U6 / 25 X~ 1 sspe+U5 / 25 T nungp3e+U5 /25
4000 e, po 4215+ 0.0 4000 [Rem,, po 4214% 0.0 4000 [, po 4223+ 0.0 4000 e, po 4218+ 0.0
Pl -3586 0.00 Pl -35.67+0.00 i pl 367+ 00 Pl -36.79% 0.00

3000

- 3000 -1 3000 =1 3000 1

2000 — 2000 - 2000 B 2000

1000 - 1000

- 1000 =1 1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2,54) TVC(cbch) (2,55) TVC(cbch) (2,5,6) TVC(cbch) (2,57)
- LB rye+U5 / 25 -1 1uig.01Ye+u6 / 25 -1 511e+04 / 25 -1 i UzZoe+u7 / 25
o pO 4189 0.0 4000 e, pO 4200+ 0.0 4000 e, pO 4206+ 0.0 4000 pO 4210+ 0.0
Pl -36.49% 0.00 Pl -36.93% 0.00 [ pl -36.13+ 0.00 Pl -36.02% 0.00
3000 1 3000 =1 3000 :— —: 3000 - -1
2000~ E 2000 E 2000 ] 2000 E
woof C . 1000 . wof C = 27.68 [ps/ch . wol C = 27.77 [ps/ch .
0 EY o 0 0 EY 0 = 0 5 100 -
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eb.ch)=(2,5,8) TVC(eboh)=(2,5,9) TVC(eb.oh)=(2, 5, 10) TVC(e.heh)=(2, 5, 11)
-1 nug yoze+Us / 25 - 1uig byge+us / 25 © i z9ze+U6 / 25 Tz 311e+u6 / 25
4000 pO 4218+ 0.0 4000 [ 4243+ 0.0 4000 [, DO 4252+ 0.0 4000, p0 4256+ 0.0
Pl -34.58+ 0.00 -34.69+ 0.00 3 pl 35 0.0 Pl -34.62+ 0.00
3000 E 3000 E 3000 — 3000 E
2000 B 2000 |- B 2000 ‘ 2000 - b
1000 ] wor C =28.83 [ps/ch]N, 1] tooor ] loor C = 28.89 [ps/ch] ]
1 1 - L N ) -
50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(251 ) TVC(cbch)(2513) TVC(cbch)(251 ) TVC(cbch)(2515)
T UL 533e+U6 / 25 Tz, o1oe+U6 / 25 ~ 1o, (yze+u4 [ 25 T, 1y/e+u6 / 25
4000 fm pO 42404 0.0 4000 fFem pO 4245£ 00 4000 fe, PD 4246+ 0.0 4000 e, pO 4232+ 00
pl -35+ 0.0 -34.26 + 0.00 F pl -34.99 + 0.00 pl -34.87 + 0.00
3000 e 3000 - a000f ] 3000 E
2000 E 2000 4 2000 — 2000 B

1000 1000 =1 1000

100 C = 29.19 [ps/ch]

PR BRSNS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




TVC(ehe)=(2,6,0) TVC(ehe)=(2,6,1) TVC(ehe)=(2,6,2) TVC(ehe)=(2,6,3)
“ona yye+ud /25 A~ 1 nuiy suze+U5 [ 25 Tnun L sze+u6 /25 A~ 1 hu,163e+U5 / 25

4000 f po 4201% 0.0 4000, po 4210+ 0.0 4000, po 4215 0.0 4000 f=, po 4227+ 0.0
Pl -35.42+0.00 pl -35.71% 0.00 [ Pl -36.09 0.00 pl 3576 0.00

3000

- 3000 -1 3000 N 3000 - 1

2000 -1 2000 =1 2000 N 2000

1000 E 1000 E 1000[- 1000 F

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (26,4 TVC(cbch) (2,6, TVC(cbch) (26,6 TVC(c, bch) (26,

LR ‘J)Aseﬂjﬁ 125 T rnar 24JE+UG 125 “ g b)zle+U6 125 T rnar B)LbEH)S/ZS
4000 [#p, pO 4260+ 0.0 4000 [ pO 42651 0.0 4000 f=, pO 4258+ 0.0 4000 pO 4261+ 0.0
pl -35.97 + 0.00 pL -35.02.+ 0.00 [ pl -35.36:+ 0.00 pL -34.87 + 0.00

3000~ - 3000 - 3000~ - 3000 -

3 1 *
2000 4 2000 4 2000~ N 2000 T
1000 J ro 1
C 1000 B woor C = 28.28 [ps/ch] ] woor C = 28.67 [ps/ch] 7]
1 L5 1 i 1 il
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (2,6,8) TVC(c,b ch) (2,6,9) TVC(c,b, ch) (2,6,10) TVC(c,b ch) (2,6,11)
©nuiLg15e+U6 / 25 Ty 3/8e+u5 / 25 © 1L, 382e+U6 / 25 T r38e+u7 / 25
4000 f=, pO 4251+ 0.0 4000 =, pO 4271+ 0.0 4000 ==, DO 4201+ 0.0 4000 =, 4275+ 0.0
pl -34.94 + 0.00 pL -35.89 + 0.00 L pl -36.42.+ 0.00 -35.36 + 0.00

- 3000

- 3000 - 3000 -

3000

2000 -1 2000 N 2000 -

2000

1000 B 1000

wool C = 28.28 [ps/ch ]

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(261 ) TVC(cbch)(2613) TVC(Cbch)(261 ) TVC(cbch)(2615)
© L usoe+U7 / 25 1 nuiLz9ye+u6 / 25 1L z4pe+U6 / 25 T nuigo5e+U7 / 25
4000 f= pO 4232+ 0.0 000 . pO 4233+ 0.0 4000 f= PD 4235 0.0 4000 4241+ 0.0
pl -33.22+ 0.00 pl -34.81+ 0.00 + pl -35.25+ 0.00 -35.12+ 0.00

- 3000

3000 ] 3000 B 3000 -

2000 -1 2000 T 2000

2000

1000

- 1000 = 1000

oo C = 30.10 [ps/ch] ¥ 1

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A1,

Llose+u5 /25
4203+ 0.0
-36.34+ 0.00

TP delay [ns]

TVC(cbch) (2,7, 4

11/e+04 /25
4189+ 0.0
-34.94 + 0.00

= pO/ -
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b ch) (2, 7 8
= pD

p1

. 118e+U6 / 25
4213+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(cbch) (2,7,12

T 1uiz.430e+U6 / 25
4220+ 0.0
-36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

e, po

A~ 1 huiZ,bbobe+u6 / 25
4212+ 0.0
-36.91+ 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 7,5

pO
pl

-1 1ug 330e+U5 / 25
4195+ 0.0
-35.04 % 0.00

1
50 100

TP delay [ns]

TVCEebeh)=(2,7, 9

~ 1 nuiL bgae+U6 / 25
4226+ 0.0
-34.93 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

= pO

T nuiEE1e+Us / 25
4216+ 0.0
-35.74+ 0.00

TP delay [ns]

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (2,7,2)

- po

X~ 1 gy 4e+U6 / 25
4219+ 0.0
-37.59+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,7,6

pO
p1

Tinu14/e+04 /25
4218+ 0.0
-35.48 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

=1 nug,

= F’O
L pl

roge+U5 /25
4229+ 0.0
-35.49 + 0.00

TP delay [ns]

TVC(cbch) (2,7,14

T g, roze+U5 / 25
4223+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3)

e po

A1, zose+u6 / 25
4216+ 0.0
-36.36 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 7,7

E pO
pl

S nun 3.33e+04 /25
4214+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

X~ g,

pa=s, pO
pl

u::e+u6 125
4243+ 0.0
-35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

71 nuis.uube+U6 / 25
4226+ 0.0
-36.32+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,80

A~ 11w osbe+U5 / 25
k... PO 4220+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(cbch) (28,4

- 323e+06 / 25
po 4229+ 0.0
pl -34.63 + 0.00

[ C =28.88 [ps/ch] 7]

50 10'0
TP delay [ns]

TVC(cbch) (2 8,8

1 nuiz,9uve+u6 / 25
- pO 4231+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(Cbch) (2, 8 12

T, rz(e+U5 / 25
= po 4265+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

A7 1 nuiZ, 1obe+U6 / 25
e po 4232+ 0.0
p1 -35.98 + 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

[ C =29.39 [ps/ch] 7

-1 nu bu3e+us / 25
4231+ 0.0
-34.02 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

Tonuiz111e+u6 / 25
pO 42411 0.0
pl -35.39 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

T 1nunp.uze+us /25
pO 4251+ 0.0
p1 -36.35+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

A~ 1 1w, Bo0e+U6 / 25
po 4232+ 0.0
p1 -35.14 + 0.00

- C = 28.46 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- C = 28.90 [ps/ch]

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10

1 nuiLgUse+U6 / 25
- po 4260+ 0.0
L pl -35.12+ 0.00

- 11Uy, 1460e+06 / 25
- pO 4250+ 0.0
r 346+ 0.0

TP delay [ns]

TVC(Cbch) (2, 8 14

- 1 1 594e+U6 / 25
= pD 4269+ 0.0
L pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,83

A7 1 nuiz, 1o8e+U6 / 25
- po 4227+ 0.0
p1 -34.03 + 0.00

[ C =29.39 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

- Ui B28e+U6 / 25
= po 4256+ 0.0
p1 -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T sme+u6/25
pO 4278+ 0.0
-35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8 15

1 num, sbye+U6 / 25
- pO 4255+ 0.0
p1 -37.18+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0)

T Laoe+u7/25
4163+ 0.0
-35.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,94

- 1L 118e+06 / 25
b pO 4206+ 0.0
p1 -37.58:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (2 9,8

g, zo3e+U5 / 25
4208+ 0.0
-35.6+ 0.0

1
50 00

TP delay [ns]

TVC(cbch) (2,9,12

1, 135e+U5 / 25
= po 4203+ 0.0
pl -36.57 + 0.00

-
TR R

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

A1 Save+U7 | 25
. po 4170+ 0.0
pL -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

Conun11/e+07/25
4205+ 0.0
-37.8+ 0.0

-
1=
50 100

TP delay [ns]

TVC(c,b ch) (2 9,9

T nugoole+us / 25
pO 4224+ 0.0
p1 -35.37 £ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 9 13

1 nuiz.an5e+U6 / 25
pO 4202+ 0.0
pl -36.28 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (2,9,2)

TnunLave+u5 /25
= po 4177+ 0.0
L pl -35.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

© 1 nuy.464e+06 / 25
- pO 4209+ 0.0
[ p1 -36.44+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

1000

1 nuiLboYe+U6 / 25
- po 4241+ 0.0
3 pl -35.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

1L bz9e+U6 / 25
= pD 4207+ 0.0
L p1 -36.99 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

A~ 1 nuiLz33e+u7 / 25
Fou. po 4173+ 0.0
pL -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

-1 nui b2ee+U7 / 25
- pO 4224+ 0.0
p1 -37.71% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 9

BRRLEUER bHE+U6/25
- pO 4234+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 9 15

71 nu.yzoe+u5 / 25
e pO 4198+ 0.0
p1 -36.28+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T rnun.4z/e+U6 / 25
pee,, pO 4166+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 4

i 8/7e+U6 / 25
== po 4197+ 0.0
pl -35.08 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,10,8

T nuE.8/3e+U6 / 25
= PD 4223+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

Tz, 9e+u6/ 25
= po 4241+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2, 10 1)

- waiudae 7 1 25
pose,, pO 4175+ 0.0
pL -35.09+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

“1nugz2r3e+U6 / 25
e pO 4204+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 10,9

T inuiLz18e+U6 / 25
- pO 4251% 0.0
p1 -35.82 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

T 1 nuiLysoe+u6 / 25
= pO 4235 0.0
p1 -36.3+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

X~ 1L 545e+U6 / 25
-, po 4190+ 0.0
L p1 -36.7+ 0.0

3000

TP delay [ns]

TVC(Cbch) (2, 10 6

T nun3.94e+04 / 25
- pO 4230+ 0.0
- pl -36.01+ 0.00

TP delay [ns]

TVC(e,peh)=(2, 10, 10

T 1nuiz.4/4e+06 / 25
E- po 4278+ 0.0
- pl -36.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,10, 3)

AT 1 nuzoy/e+U6 / 25
e po 4205 0.0
p1 -35.98 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

-1 nui 199e+U6 / 25
- pO 4227+ 0.0
p1 -35.94 + 0.00

50 160
TP delay [ns]

TVC(ehch)=(2,10, 11

1 nup,122e+U6 / 25
- pO 4272+ 0.0
p1 -37.22+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

T nuig,BU3e+U6 / 25
F-. pD 4234+ 0.0
L pl -35.5+ 0.0

TP delay

[ns]

4000 oy

pO

T nai zope+u7 / 25
4226+ 0.0
p1 -34.71+ 0.00

3000 =

2000 =

w0 C =28.81 [pS/Ch]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 11 0)

T 1oe+U5 /25
P pO 4178+ 0.0
p1 -35.62+ 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

T 33/e+06 / 25
o pO 4191% 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(cbch) (2,11,8

T2z e+U6 / 25
= po 4215+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 12

Ty 5r0e+04 /25
= po 4234+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

A1 .08 1e+U4 | 25
Fee.. po 4194+ 0.0
pL -36.2+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 11 5

~ 1 nub,2y3e+u4 / 25
== po 4197+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (2,11,9

1 nug. 79Ye+U6 / 25
- pO 4234+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 11 13

Tinuzz/1e+U6 /25
- pO 4237+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,11, 2)

X~ 1 yr4e+U5 /25
= po 4201+ 0.0
L pl -36.26 + 0.00

3000

TP delay [ns]

TVC(chh) (2, 11 6

-1 nuz,uu1e+us / 25
4206+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(eb.ch)=(2, 11, 10

X~ 1w r8/e+U5 /25
po 4243+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 14

Tl e+U5 /25
- pD 4242+ 0.0
[ p1 -36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

AT 1 nuzB1oe+U6 / 25
Fee, po 4199+ 0.0
pl -35.74+ 0.00

TP delay [ns]

TVC(CbCh) (2, 11 7

-1 U 814e+U6 / 25
e, pO 4216+ 0.0
p1 -35.96+ 0.00

50 160
TP delay [ns]

TVC(Ebeh=(2, 11, 11

T nuizg41e+U5 / 25
s, pO 4231+ 0.0
p1 -35.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 15)

T nan 1 ave+u7 /25
= pO 4234+ 0.0
p1 36+ 0.0

TP delay [ns]



4000

3000

2000

1000
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(CbCh) (2,12,0)

K-z, 1re+U6 /25
- po 4201+ 0.0
p1 -37.37+ 0.00

TP delay [ns]

TVC(Cbch) (2, 12 4

i 2.63e+05 /25
=5 po 4223+ 0.0
pl -36.33+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,12,8

T L 3z1e+U6 / 25
= po 4208+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(Cbch) (2, 12 12

T 3o 7e+U6 / 25
= po 4243+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(chh) (2,12,1)

4000 [ po

p1

x- 1 z.s5e+U6 | 25
4209+ 0.0
-38.08+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (2, 12 5

=,
4000 e DO

pl

2oe+04 1 25
4233+ 0.0
-36.67 + 0.00

3000 -

2000

w00 C = 27.27 [ps/ch

TP delay [ns]

TVCEebeh)=(2, 12,9

4000 B

T nuiL g8 /e+U6 / 25
4230+ 0.0
-35.63 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (2,12,13

2oe+Uu6 / 25
4232+ 0.0
-35.01+ 0.00

X rnanz

4000 B po

p1

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(Cbch) (2, 12 6

A~ 11wz, zobe+U6 / 25
-, po 4218+ 0.0
L pl -37.31+ 0.00

3000

T a2z /e+06 / 25
- pO 4243+ 0.0
[ pl -36.78 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

- 1 nuiL yg4e+u4 [ 25
4236+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 12 14

~ 1 nuiLuyze+U6 / 25
- pD 4242+ 0.0
L pl -35.73+ 0.00

TP delay [ns]
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2000

1000
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3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

e po

AT 1 nug,1/ze+U5/ 25
4218+ 0.0
pl -36.54+ 0.00

TP delay

TVC(c,b Ch) (2, 12 7

[ns]

-1 nui 291e+07 / 25
4252+ 0.0
-37.1+ 0.0

50 160
TP delay

TVC(ebeh)=(2,12, 11

Fes, pO

[ns]

T nan 2. 9oe+u6 / 25
4242+ 0.0
-35.3+ 0.0

TP delay

TVC(cbch) (2, 12 15

. pO

[ns]

T 1 nui pbze+u7 / 25
4233+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]
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1000
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3000
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1000

0

4000
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2000

1000

TVC(CbCh) (2, 13 0)

T s /e+U6 / 25
pO 4207+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 4

[

-1 nuy B2Ye+U5 / 25
pO 42411 0.0
p1 -39.98+ 0.00

100
TP delay [ns]

TVC(cbch) (2,13,8

1 nuig,byze+U6 / 25
po 4207+ 0.0
pl -35.84 + 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

T nuiLUsBe+U6 / 25
po 4230+ 0.0
p1 -36.6 + 0.0

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

AT 1 nuiLu/oe+Us /25
e po 4222+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 13 5

-1 nug, ryse+u4 [ 25
e pO 4246+ 0.0
p1 -39.55+ 0.00

TP delay [ns]

TVCEbeh)=(2 13,9

Tonan/.33e+U5 /25
= pO 4232+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 13 13

Tinag1e+ud [ 25
= pO 4226+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2, 13 2)

TP delay [ns]

TVC(Cbch) (2, 13 6

- U bzbe+U5 / 25
- pO 4254+ 0.0
[ p1 -39.58+ 0.00

© vy, s4ze+05 / 25
.. pO 4216+ 0.0
[ p1 -36.56 + 0.00

3000

TP delay [ns]

TVC(e b eh)=(2, 13, 10

1000

T nuig.z13e+U6 / 25
E- po 4242+ 0.0
- pl -35.56 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 14

T g e+us / 25
- pD 4229+ 0.0
[ p1 -35.91+ 0.00

3000

TP delay [ns]
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2000

1000

4000
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2000

1000

TVC(Cbch) (2,13,3)

A~ 1 nuzbo1e+u7 /25
e, po 4234+ 0.0
pL -37.47+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 7

- i yare+07 / 25
- pO 4243+ 0.0
p1 -38.59+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 13, 11

T nuiLus/e+u6 / 25
= po 4241+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 15

T inuiLyy/e+u6 / 25
po 4231+ 0.0
-35.78 + 0.00

TP delay [ns]
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1000

0

4000
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2000

1000

TVC(CbCh) (2, 14 0)

T s.s0e+U5/ 25
.. pO 4176+ 0.0
p1 -35.71+ 0.00

TP delay [ns]

TVC(Cbch) (2, 14 4

= Uiz 556e+U5 / 25
= po 4189+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (2,14,8

T 111e+u5/ 25
= po 4230+ 0.0
p1 -37.46 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

1 1up,pz4e+U6 / 25
= po 4216+ 0.0
pl -35.94 + 0.00

TP delay [ns]
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1000
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1000
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3000

2000

1000

TVC(chh) (2,14,1)

A~ 1 nuiLUbse+Us / 25
pe. po 4178+ 0.0
p1 -35.99 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

- Uy 375e+U5 / 25
e, pO 4217+ 0.0
p1 -37.38 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

-/ uz.40ue+US | 25
- pO 4254+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

Tinuiz1ze+U6 /25
- pO 4213+ 0.0
p1 -37+ 0.0

TP delay [ns]
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1000

TVC(CbCh) (2,14,2)

A~ 11w 4.40e+U6 / 25
e, po 4177+ 0.0
L pl -35.66 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 6

= 11U b8be+U5 / 25
- pO 4216+ 0.0
[ pl -36.51+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10)

1000

0

©1nuig,134e+05 / 25
- po 4263+ 0.0
[ p1 -37.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14)

~ g 515e+U5 / 25
= pD 4212+ 0.0
L p1 -36.23 + 0.00

3000

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

K- rnaiLare+U7 /25
peee, po 4186+ 0.0
p1 -35.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 7

- U 18/e+U6 / 25
4217+ 0.0
-36.3+ 0.0

50 160
TP delay [ns]

TVC(ehch)=(2, 14, 11

T nugp12e+U6 / 25
4255+ 0.0
-37.3% 0.0

1
50 00

TP delay [ns]

TVC(cbch) (2, 14 15

Tinan1ule+u6 /25
- pO 4208+ 0.0
p1 -35.88 + 0.00

TP delay [ns]
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1000

0
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1000

TVC(CbCh) (2, 15 0)

©rnwgpaze+U5 [ 25
4177+ 0.0
p1 -35.69 + 0.00

TP delay

TVC(Cbch) (2, 15 4

[ns]

-1 nuig, zove+u6 / 25
4188+ 0.0
-35.54 + 0.00

foee. pO
pl
- C N
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 15 8)
T g b81e+U6 / 25
= po 4214+ 0.0
pl -36.63+ 0.00

TP delay

TVC(Cbch) (2, 15 12

- pO

[ns]

T rnuiz412e+05 /25
4218+ 0.0
pl -35.27 + 0.00

TP delay

[ns]
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1000

4000

3000

2000

1000

TVC(chh) (2,15,1)

. po

A7 1 nuiLoB0e+U4 / 25
4188+ 0.0
-35.6 £ 0.0

p1

TP delay [ns]

TVC(c,b Ch) (2, 15 5

~ 1 Ui b46e+U6 / 25
4191+ 0.0
-34.9 % 0.0

1
50 100

TP delay [ns]

TVC(ebeh)=(2 15,9

E po

pl

T inuizpl/e+u6 / 25
4247+ 0.0
-36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 15 13

= pO

1 nuigoYe+Us / 25
4212+ 0.0
-35.01+ 0.00

PR R SR |
50 100

TP delay [ns]
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4000

3000
2000

1000

TVC(CbCh) (2,15,2)

e PO

X~ 1 nuig 1oze+U4 [ 25
4193+ 0.0
p1 -35.64 + 0.00

TP delay

TVC(Cbch) (2, 15 6

pD
pl

[ns]

1 nue,uz24e+04 | 25
4203+ 0.0
-35.95+ 0.00

TP delay

TVC(cbch) (2, 15 10

1000

0

= "

[ns]

©1nuy 5y3e+U6 / 25
4260+ 0.0
p1 -37.17 + 0.00

TP delay

TVC(c,b Ch) (2, 15 14

= 0

[ns]

T rnuiL419e+U7 / 25
4220+ 0.0
-35.11+ 0.00

PR R R S R |
50 100

TP delay

[ns]
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1000

TVC(Cbch) (2,15,3)

e po

AT rnuiLzr3e+U5 /25
4197+ 0.0
p1 -35.67 + 0.00

TP delay

TVC(c,b Ch) (2, 15 7

[ns]

~ 1 nui4/3e+U6 / 25
4214+ 0.0
-36.2+ 0.0

TP delay

TVC(ehch)=(2, 15, 11

e pO

[ns]

Tonan 1 ple+us /25
4236+ 0.0
pl -35.56 + 0.00

TP delay

TVC(cbch) (2, 15 15

pO
p1

[ns]

S 137e+04 /21
4212+ 0.0
-33.3+ 0.0

TP delay

[ns]
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1000

TVC(cbch) (3,0,0)

K™ 1nui 1zoe+u4 /25
4205+ 0.0
-38.16 + 0.00

5[') 10'0 =
TP delay [ns]
TVC(cbch) (3 0,4)
~ UL Us3e+u4 / 25
3 pO 4217+ 0.0
pl -37.65+ 0.00
TP delay [ns]
TVC(cbch) (3 0,8)
— T rnuzaz9e+04 [ 25
P po 4169+ 0.0
-34.05+ 0.00
[ C=29.37 [ps/ch]\,_ 7]
1 L -
50 100
TP delay [ns]
TVC(cbch) (3, O 12)
- rnuiLsise+ud / 25
= po 4242+ 0.0
pl -35.72+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3,0,1)

. po

p1

A~ 1L uive+ud [ 25
4175+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

pO
pl

~1nui bo/e+u4 [ 25
4209+ 0.0
-36.74 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 0,9

== pO

T inur.U/1e+ud /25
4212+ 0.0
-34.75+ 0.00

pl

TP delay [ns]

TVC(c,b Ch) (3, O 13

Tonan g Soe+ud [ 25
= pO 4225+ 0.0
pl -35.78 + 0.00

TP delay [ns]
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4000
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1000

4000

3000

2000

TVC(cbch) (3,0,2)

po

pl

AT 1w 14/e+04 /25
4194+ 0.0
-37.22+ 0.00

1000

50 100
TP delay [ns]
TVC(cbch) (3 0,6
= PO

T z4ze+04 | 25
4232+ 0.0
-38.12 + 0.00

p1

TP delay [ns]

TVC(cbch) (3, 0 10

pO
pl

- 11U 186e+04 / 25
4203+ 0.0
-34.13+ 0.00

- C = 29.30 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,0,14

1000

= P"

pl

T s43e+04 / 25
4235+ 0.0
-36.21+ 0.00

TP delay [ns]
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1000

TVC(cbch) (3,0,3)

e po

A~ 1w 1ase+Ud | 25
4203+ 0.0
-37.2+ 0.0

pl

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

© 1 nui 345e+04 / 25
4239+ 0.0
-38.04 + 0.00

100

TP delay [ns]

TVC(c,b ch) (3, O

= pO

T 4/1e+u4/25
4210+ 0.0
-34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3, O 15

- i sole+ud [ 25
4219+ 0.0
-34.76 + 0.00

TP delay [ns]
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1000

TVC(cbch) (3,1,0

K™ 1nuiLulae+u4 /25
- po 4181+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(cbch) (31,4

- i z11e+u4 / 25
pO 4202+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (3 1,8

T 1/e+u4 /25
= po 4192+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(cbch) (31,12

“ina yyy8 /25
- po 4214 0.0
pl -34.76 + 0.00

TP delay [ns]
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

X yrza125
o po 4189+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nui 140e+04 / 25
4190+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 1,9

T nai1z9e+u4 25
po 4197+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (31,13

Tinan g be+ud /25
pO 4222+ 0.0
pl -36.79+ 0.00

TP delay [ns]
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4000
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1000

TVC(cbch) (3,1,2)

K™ 1 nui isye+ud / 25
po 4181+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (31,6

-1 nuigzs4e+04 [ 25
e pO 4208+ 0.0
[ pl -36.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

©1nuiz.a44e+04 | 25
= po 4196+ 0.0
L pl -35.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

~ i 1ose+u4 / 25
= pD 4210+ 0.0
L p1 -35.75+ 0.00

3000

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT 1L zose+ud [ 25
- po 4203+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nui 412e+04 / 25
4219+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

T bque+u4/25
4214+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (31,15

T nui zove+ud [ 25
- po 4220+ 0.0
p1 -35.32+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3,2,0)

A1,

2Zove+u4 | 25
4170+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(cbch) (3,24

-1 z4ze+04 | 25
4179+ 0.0
-35.64 + 0.00

TP delay [ns]

TVC(cbch) (3,2,8

K1,

112e+U04 /25
4223+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T i sy4e+04 / 25
4228+ 0.0
-35.56 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

vsLe+u4 [ 25
4191+ 0.0
-36.83+ 0.00

AL

. PO

p1

TP delay [ns]

TVC(c,b ch) (3 2,5

~nui 31/e+04 / 25
4204+ 0.0
-37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

e, po

pl

T nu.azze+u4 25
4236+ 0.0
-36.49 + 0.00

TP delay [ns]

TVC(C, bch) (3,2,13

T nai zyae+ud [ 25
4228+ 0.0
-35.87+ 0.00

TP delay [ns]
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1000

4000

3000

2000

4000

3000
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1000

1000

0

TVC(cbch) (3,2,2)

™, po

AT 1nuizive+U4 /25
4197+ 0.0
-37.56 + 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

pO
p1

- rnuiL312e+04 [ 25
4202+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(cbch) (3, 2 10

- o

©1nuiz.a49e+04 | 25
4277+ 0.0
-38.31+ 0.00

pl

TP delay [ns]

TVC(cbch) (3,214

T 1p3e+U4 / 25
4221+ 0.0
pl -35.44 + 0.00

TP delay [ns]
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1000

TVC(cbch) (3,2,3)

po

pl

AT rnuiLzoze+ud [ 25
4197+ 0.0
-37.27 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

-1 nui 3n3e+04 / 25
4208+ 0.0
-35.87 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

T yz::e+u4/25
4269+ 0.0
-37.36+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

pO
p1

T nai z4ze+u4 [ 25
4236+ 0.0
-35.4+ 0.0

1
100

TP delay [ns]
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TVC(c,b,ch)=(3,3,0)
T Ao

4190+ 0.0

w " 9as0/25
p1 -35.83:+ 0.00

TP delay [ns]

TVC(c,b,ch)=(3, 3, 4

s rna Y537 /25
== pO 4211+ 0.0
-34.32+ 0.00

[ C=29.13 [ps/ch]™_ ]
_ o
TP delay [ns]
TVC(cb.ch)=(3,3,8)
X~ 1 i bzye+u4 [ 25
= T po 42133‘
pl -35.33+ 0.00

1
0 50 100

TP delay [ns]

TVC(c,b,ch)=(3, 3, 12

1 nuiLzr4e+04 [ 25

po 4233+ 0.0
pl -35.97 + 0.00

TP delay [ns]
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1000
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1000

TVC(c,b,ch)=(3,3,1)
T A

S 7 you7/25
Fe po 4198+ 0.0
pL -36.65 + 0.00

TP delay [ns]

TVC(c,b,ch)=(3, 3,5

= rnui O1ze+04 / 25
== po 4224+ 0.0
pl -35.45+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 3,9

Tinunl/1e+u4 /25
= po 4222+ 0.0
p1 -34.82+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 3, 3, 13

TinuaiLyrie+ud /25
po 4235+ 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

P, po 4251+ 0.0
3000 - 7]
2000 .
o C = 28.01 [ps/ch 7]

[ . L -

0 50 100

4000

3000

2000

TVC(c,b,ch)=(3,3,2)
T X

TP delay [ns]

TVC(c,b,ch)=(3, 3,6

- P

S yzv8 /25
-, po 4215+ 0.0
o pl -36.09+ 0.00

3000

1 1urL.Qbze+04 [ 25

pl -35.68 + 0.00

4233+ 0.0

- C = 28.03 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 3, 10

1 nuiLyr4e+u4 [ 25

pl -35.71+ 0.00

TP delay [ns]

1000

TVC(c,b,ch)=(3, 3, 14

= PO

1 nui z05e+U4 [ 25

pl -36.03+ 0.00

4217+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(3, 3, 3)
C T A

S 7 9016725
e po 4214+ 0.0
pL -34.65 + 0.00

TP delay [ns]

TVC(c,b,ch)=(3, 3,7

-1 nui Ub/e+u4 / 25
po 4250+ 0.0
p1 -34.69+ 0.00

[ C =28.83 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 3,11

-1 nuiL pube+u4 / 25
=, po 4252+ 0.0
pl -36.78 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 3, 3, 15

T nui s30e+ud / 25
po 4240+ 0.0
p1 -36.59 + 0.00

PR PR S S |
50 100

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
o pure+ud [ 25 A~ 1w 140e+U4 [ 25 A” 1L 144e+04 [ 25 AT z3se+ud | 25
4000 _- PO 4194+ 0.0 4000 _-I po 4192+ 0.0 4000 ._- po 4188+ 0.0 000 fo, po 4207 + 0.0
pl -36.82+ 0.00 pl -36.37 + 0.00 : pl -35.92+ 0.00 pl -36.98 + 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3.4.4) TVC(cbch) (3,4, TVC(cbch) (3,4,6 TVC(C, bch) (3.4,

rnar * svol /25 = nag; z)dhe+04/25 = o, z)u<e+ud 125 S L)JZEHM/ZS
4000 fame, p0 4229+0.0 4000 fme DU 4234+ 0.0 4000 [, pO 4242+ 0.0 4000 fs pO 4250+ 0.0
pl -36.2+ 0.0 Pl -36.86+ 0.00 3 pl -37.54+ 0.00 -36.1% 0.0

3000 [ B 3000 — 3000~ 4 3000 E

2000~ B 2000 — 2000~ T 2000 B

1000~ C B 1000 — 1000 C = 26.64 [pS/C ] 1000 B

- F -] -
- - -
- L - -
1 1 0, 0, 1 1 1
50 T00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3 4,8 TVC(cbch) (3 4,9 TVC(cbch) (3, 4 10 TVC(c, bch) (3, 4

T a2y rge+ud | 25 T nun.yrse+ud [ 25 T, r38e+04 | 25 T rnug 9U::e+u4/25
4000 =, PD 4212+ 0.0 4000 4231% 0.0 4000 - DO 4241+ 0.0 4000 o, pO 4246 £ 0.0
-34.45+ 0.00 -35+ 0.0 I pl -35.94 + 0.00 pl -35.07 + 0.00

- 3000

3000 - 3000 -1 3000 -

2000~ -1 2000 - 2000 I 2000

- 1000

1000~ C = 2903 [ps/ch] . - 1000 1000 -
1 1 - 1 1 -
0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,4,12 TVC(C, bch) (3,4,13 TVC(cbch) (3,4,14 TVC(C, bch) (34,15

T suze+u4 / 25 4000 Tinun 1 a0e+ud [ 25 T zoze+u4 [ 25 4000 T nui 1yve+ud [ 25
41000 o, PO 4237+ 0.0 - PO 4224+ 0.0 4000 - PD 4224+ 0.0 - PO 4226+ 0.0
pl -36.62+ 0.00 pl -37.44+ 0.00 r pl -37.03+ 0.00 pl -36.25+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

X/ na ):1441 125
E_ po  4203+0.0
pl  -354%0.0

TP delay [ns]

TVC(cbch) (3,54

- i 114e+04 / 25
. pO 4214+ 0.0
p1 -35.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

T rnuig.4r4e+04 /25
- pO 4241% 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

T zgoe+u4 | 25
4295+ 0.0
-36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

S T usy7/25
k. pO 4229+ 0.0
p1 -35.88  0.00

TP delay [ns]

TVC(c,b ch) (3 55

- nun Z18e+u4 / 25
e, pO 4204+ 0.0
p1 -34.81% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

-1 nuw.Usse+ud / 25
- po 4270+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

pO
p1

Tonan g z4e+ud [ 25
4283+ 0.0
-36.89+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

Srwae T yyo7/25
. pO 4233+ 0.0
L pl -36.04 £ 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

- i z3ze+u4 [ 25
- pO 4208+ 0.0
X pl -34.51+ 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

T 1nuiz.a43e+04 | 25
DO 4285+ 0.0
pl -35.06 + 0.00

- C = 28.52 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

T zz1e+04 /25
pD 4283+ 0.0
pl -36.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT 1 nuiLUbbe+u4 /25
e, po 4241+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui Zgye+u4 | 25
- pO 4220+ 0.0
p1 -34.48+ 0.00

[ C =29.00 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

T bbée+l}4/25
pO 4290+ 0.0
pl -35.17 + 0.00

[ C =28.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

= po

1 nan 9y49 /25
4296+ 0.0
-37.03+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(3,6,0)
T Ao

u 5100/25
po 4176 0.0
pL -34.29  0.00

TP delay [ns]

TVC(c,b,ch)=(3, 6, 4

- i 113e+04 / 25
po 4241 0.0
p1 -36.85+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(3, 6,8

1 nuz.gove+u4 | 25
po 4230+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 3, 6, 12

T rnuiLzsve+ud | 25
po 4222+ 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(3,6,1)
T A

S T wan6/25
= po 4188+ 0.0
pL -34.76  0.00

TP delay [ns]

TVC(c,b,ch)=(3, 6,5

S Y6/0/25
[ree, po 4257+ 0.0
pl -37.67 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 6,9

1 nun p.use+u4 / 25

e, po 4257+ 0.0
pL -36.36+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 3, 6, 13

Srna 7 ysy8 25
po 4235+ 0.0
pl -36.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000:— 7]

zooo:— ‘

wof C = 28.21 [ps/ch .
3 = oo =

4000
3000
2000

1000

TVC(c,b,ch)=(3, 6, 2
T

- C = 28.25 [ps/ch

X1 nai )5339/25
- po 4204+ 0.0
[ pl  -354%0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 6, 6

11 1z8e+04 [ 25

- po 4259+ 0.0
[ pl -37.03+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(3, 6, 10

1 nun 2,08e+u4 [ 25

po 4251+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 3, 6, 14

1nuiL14/e+04 /25

po 4247+ 0.0
pl -36.65+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(3, 6, 3)
T A

S 7 wyi3/25
po 4193+ 0.0
pL -34.73 £ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(3,6,7

-1 nui 2uze+u4 | 25
po 4263+ 0.0
p1 -38.03+ 0.00

TP delay [ns]

TVC(c,b,ch)=(3, 6, 11

T nui p3se+u4 / 25
po 4265+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(c,b,ch)=( 3, 6, 15

T nui 1bze+ud [ 25
po 4240+ 0.0
-35.76 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

e

TVC(c,b,ch)=(3,7,0)
T r

BoB2 / 25
4197+ 0.0
-35.29+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

T U4 /e+u4 [ 25
4206+ 0.0
-35.61+ 0.00

E. po
pl
e ]
% T
TP delay [ns]
TVC(cbch) (3 7,8
y po

T nuizusoe+u4 | 25
4214+ 0.0
-37.19+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

TrnaiLzize+u4 /25
4226+ 0.0
-34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,1)

A

=, po

p1

v2(0/25
4201+ 0.0
-35.14 + 0.00

TP delay [ns]

TVC(cbch) (37,5

nut

po
p1

YY66 / 25
4195+ 0.0
-34.91+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (3 7,9

T nuby/e+ud [ 25
4240+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

= pO

T inui 1bve+ud / 25
4210+ 0.0
-35.13+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,7,2)

- PO

p1

AT 1 nuLusse+ud /25
4217+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(cbch) (37,6

- 1zze+04 [ 25
- pO 4213+ 0.0
I pl -36.01 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

=1 nug,

1000

0

- DO
L p1

1U3e+U4 /25
4256+ 0.0
-36.91+ 0.00

TP delay [ns]

TVC(cbch) (3,7,14

T rnuiLusie+u4 / 25
4211+ 0.0
-34.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

e

[, pO
p1

Y30/ 25
4216+ 0.0
-35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

= po
pl

-1 nui 1ype+u4 / 25
4227+ 0.0
-35.79 % 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

= pO

T nug UUie+U4/25
4254+ 0.0
-37.12+ 0.00

pl

TP delay [ns]

TVC(C, bch) (3,7,15

= pO

T nuiusze+ud [ 25
4217+ 0.0
-35.54+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

A7 nui uzse+ud [ 25
po 4220+ 0.0
pl -37.48+ 0.00

TP delay [ns]

TVC(cbch) (38,4

- i izoe+u4 [ 25
pO 4223+ 0.0
p1 -35.46+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 8,8

T rnuig.grve+u4 [ 25
po 4250+ 0.0
pl -38.38 + 0.00

1 1=
50 100
TP delay [ns]
TVC(Cbch) (3, 8 12

T 1s1e+ud /25
pO 4239+ 0.0
p1 -36.3+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT rmuLurse+u4 [ 25
., po 4198+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

-1 nui Z4pe+04 [ 25
pO 4211+ 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

- 1nuy.yuse+u4 [ 25
po 4266+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

Tinaianie+ud [ 25
4235+ 0.0
-36.21+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

A7 1 nuiz44e+04 /25
- po 4201+ 0.0
L pl -36.09 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

©rnurz3ye+u4 [ 25
- pO 4219+ 0.0
[ pl -35.34 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

T nuig.zive+ud | 25
4272+ 0.0
-38.1+ 0.0

50 100

TP delay [ns]

TVC(cbch) (3,814

T rnuiLgy1e+u4 / 25
- pD 4233+ 0.0
[ p1 -36.48 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3)

T Lzze+ud [ 25
e, pO 4231+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 nui 3vye+u4 / 25
- pO 4239+ 0.0
p1 -36.24 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

T, 4b5e+u4/25
- pO 4277+ 0.0
p1 -38.21+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

Tanaizye+ud /25
e po 4243+ 0.0
p1 -35.83+ 0.00

TP delay [ns]



TVC(c,b,ch)=(3, 9,0) TVC(Ebe)=(3,9,1) TVC(ehe)=(3,9,2) TVC(ehe)=(3,9,3)
AT yby7/25 ALl y132/25 AT 1L uyse+ud [ 25 “rnan use+ud [ 25

4000 fme,, ' po 4216+ 0.0 4000 fm,, pO 4232+ 0.0 4000 fm PO 4232+ 0.0 4000 fos pO 4230+ 00
Pl 3550+ 0.00 pl -36.11¢ 0.00 L PL_ -35.87:0.00 pl -35.01+ 0.00

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 = 1000 1 1000~ 1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (3,9,4

Iobe+u4 [ 25
4209+ 0.0
-35.04 + 0.00

- po,..u.l
pl
e ]
% T
TP delay [ns]
TVC(cbch) (3 9,8
e po

T rnuzzole+u4 | 25
4216+ 0.0
-34.98 + 0.00

p1

TP delay [ns]

TVC(cbch) (3,9,12

pO
p1

“anun 1 4re+u4 /25
4271+ 0.0
-36.62+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (3 9,5

=1 nuiL /8be+u4 / 25
- pO 4217+ 0.0
pL -36.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 9,9

<1 nu goye+ud / 25
- DO 4228+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(C, bch) (3,9,13

- i1 3oe+ud [ 25
- po 42495 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

TP delay [ns]

TVC(cbch) (39,6

- i, ru3e+ud [ 25
. pO 4232+ 0.0
3 pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 9 10

Tnuzs4e+04 [ 25
- DO 4250+ 0.0
X pl -34.97 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,9,14

T s3ye+ud [ 25
- PD 4256+ 0.0
F pl -37.9+ 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (3 9,7

=1 nur bobe+u4d [ 25
- PO 4242+ 0.0
pL -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 9

Toonan g ﬂ/E+U4/25
- p0 4256+ 0.0
Pl -36.02: 0.00

TP delay [ns]

TVC(C, bch) (3,9,15

T 1 4pbe+u4 / 25
- po 4248+ 0.0
pl -37.03+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 3, 10,0)

T LAl Yo/7/25
[ po 4220+ 0.0
pl -37.01+ 0.00

TP delay [ns]

TVC(cbch) (3,104

-1 nuiLuzoe+ud / 25

- pO 4206+ 0.0
Pl -36.83% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

== pD

1 nuiL yble+ud / 25

10, 8 )
pl -37+ 0.0

4251+ 0.0

TP delay [ns]

TVC(cbch) (310,12

1 nui z49e+u4 | 25

- pO 4235+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (3,10,1)

3000

2000

1000

S w06 /25
4000 [, PO 4222+ 0.0
Pl -37.99% 0.00

TP delay [ns]

TVC(c, bch) (3,10,5

4000

3000

2000

1000

=1 nui uybe+u4 / 25
pO 4213+ 0.0
pL -36.82:+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 10

3000

2000

1000

-1 nun,ybye+u4 [ 25
4000 fon pO 4264+ 00
Pl -36.67:0.00

TP delay [ns]

TVC(cbch) (3,10,13)

4000 e,

3000

2000

1000 |-

X~ yora/25
PO 4234+ 0.0
pl -34.34 + 0.00

C =29.12 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (3,10,2)

1000

X~ L ase+ud [ 25
e, PO 4220 0.0
I pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (3.10,6

T nuiL1/4e+04 /25
F pO 4225+ 0.0
3 PL_ -36.66+ 0.00

TP delay [ns]

TVC(cbch) (3, 10 10

1000

0

© a2 yzoe+u4 / 25
- DO 4277+ 0.0
3 Pl -37.16% 0.00
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po
pL

TP delay [ns]

TVC(c,b ch) (4 57

e pO
pl

- nui 3s/e+04 / 25
4220+ 0.0
-37.35+ 0.00

50 00

TP delay [ns]

TVC(c,b ch) (4, 5

e pO

EEALEVX u4/e+u4/25
4249+ 0.0
-36.22+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (4, 5 15

T naizzye+ud [ 25
4227+ 0.0
-35.96 + 0.00

TP delay [ns]



TVC(c,b,ch)=(4, 6, 0) TVC(c,b ch) (4,6,1) TVC(c,b ch) (4,6,2) TVC(c,b ch) (4,6,3)
AT yys6 / 25 ALl vyz2 /25 AT 1L uyse+ud [ 25 A~ 1 uzse+ud | 25
4000 Fones, ' po 4183+ 0.0 4000 P PO 4175+ 0.0 4000 _=- po 4196+ 0.0 4000 [ po 4203+ 0.0
pl -34.99 + 0.00 pl -34.62 + 0.00 F pl -34.65+ 0.00 pl -35.06 + 0.00

- 3000

3000 - 3000 -1 3000 - N

2000 B 2000 - 2000 2000

1000 E 1000 1000

1 wol- C = 28.86 [ps/ch]

1 1 L 1 1 1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (46,4 TVC(cbch) (4,65 TVC(cbch) (46,6 TVC(c, bch) (46,

T ) Y513/25 4000 1 nar ) yoas [ 25 T U)‘:lae+U4 125 - nar l?b/e+04/25
4000 pO 4195+ 0.0 pO 4192+ 0.0 4000 [, pO 4211+ 0.0 4000 e, pO 4201% 0.0
pl -35.48 + 0.00 pl -35.8+ 0.0 F pl -36.44 + 0.00 pL -35.29+ 0.00
3000~ — 3000 - 3000~ ] 3000 -
2000 | E 2000 1 2000 ] 2000 [ -
o} ¢ ] 1000 ] wor C = 27.44 [ps/ch ] woF C = 28.34 [ps/ch ]
I L5 oL I | = I =
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(4,6,8) TVC(eb,oh)=(4,6,9) TVC(eb.ch)=(4, 6, 10) TVC(e.heh)=(4,6, 11)
T b/ e+u4 [ 25 -1 nuw.ogbe+u4 / 25 Tz zzoe+u4 | 25 <1 nuiL syse+u4 / 25
4000 f, PD 4216+ 0.0 4000 fo, 4235+ 0.0 4000 __- DO 4251+ 0.0 4000 o, pO 4240+ 0.0
pl -34.72+ 0.00 -34.59 + 0.00 : pl -35.81+ 0.00 pl -34.64 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 4 2000 |- - 2000 2000 -

1000 E 1000 C = 28.91 [pS/Ch] — 1000: w00 C = 28.87 [pS/Ch]

1 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,6,14 TVC(C, bch) (4,6,15

Ty zse+ud /25 T inaizose+ud [ 25 T i 13pe+u4 / 25 T nui zsve+ud [ 25
4000 k=, PO 4236+ 0.0 4000 e, PO 4230+ 0.0 4000 - PD 4233+ 0.0 4000 po, PO 4239+ 0.0
pl -36.53+ 0.00 pl -36.5+ 0.0 r pl -36.89 + 0.00 pl -36.9 + 0.0

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(4,7,0)
T Ao

w " wo8/25
e po 4216+ 0.0
p1 -35.27:+ 0.00

TP delay [ns]

TVC(c,b,ch)=(4,7, 4

S 7 wse5 )25
po 4247+ 0.0
p1 -35.37:+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 4, 7, 8

 1uiz,0uge+u4 / 25
=, po 4225+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(c,b,ch)=(4,7, 12

TrnuiLus/e+u4 / 25
po 4271 0.0
pl -35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4,7,1)
T A

S T wosd /25
e po 4230+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b,ch)=(4,7,5

S 8/89/25
e po 4249+ 0.0
pl -35.65+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4,7, 9

- nun 7.43e+04 [ 25
e po 4250+ 0.0
pl -36.74 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 7, 13

T onai1i3e+ud [ 25
po 4281+ 0.0
pl -36.76 + 0.00

TP delay [ns]

4000
3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(c,b,ch)=(4,7,2)
T X

TP delay [ns]

TVC(c,b,ch)=(4, 7,6

S 7 159725
po 4235+ 0.0
p1 -35.27 + 0.00

S 7 yrsl/25
- po 4248+ 0.0
[ pl -35.89+ 0.00

- C = 27.86 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 7, 10

1 nuiLyoge+u4 / 25
- po 4272+ 0.0
- pl -36.53 + 0.00

1
50 100

TP delay [ns]

1000

TVC(c,b,ch)=(4, 7, 14

T rnuiLyore+ud / 25
- po 4274+ 0.0
L -36.18 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4, 7, 3
T

AT rnuaiLuuse+ud /25
=, po 4253+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(c,b,ch)=(4, 7,7

= 1 nui Oape+ud / 25
= po 4255+ 0.0
pl -35.59 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 7,11

-1 nui suse+u4 / 25
. po 4264+ 0.0
pl -35.66 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 7, 15

~nan 1 ube+ud [ 25
po 4277+ 0.0
p1 -36.43+ 0.00

P IR S S
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4,8,0)
T Ao

w  yi2/25
po 4202+ 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(c,b,ch)=(4, 8, 4

- i zzye+u4 | 25
po 4230 0.0
p1 -35.78:+ 0.00

TP delay [ns]

TVC(c,b,ch)=(4,8, 8

1 nuiLUoge+u4 / 25
po 4228+ 0.0
pl -35.88+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(4, 8, 12

T rnuiLz4se+u4 [ 25
po 4225+ 0.0
pl -35.14 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4, 8,1)
T A

S T yys8/25
e po 4210+ 0.0
p1 -36.32+ 0.00

TP delay [ns]

TVC(c,b,ch)=(4, 8,5

- rnui141e+0d / 25
Fuce p0 4220+ 0.0
pl -35.34+ 0.00

=

TP delay [ns]

TVC(c,b,ch)=(4, 8,9

~ 1 nu.Ubse+ud / 25
- po 4248+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

S w7725
e, po 4226+ 0.0
p1 -36.23+ 0.00

TVC(c,b,ch)=( 4, 8, 13

PR SRS S
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4,8,2)
T X

“rnuC oysd /25
_I po 4214;‘
[ pl -35.4+ 0.0
- C = 28.25 [ps/ch 1
- L L -
50 100
TP delay [ns]
TVC(c,b,ch)=(4, 8, 6
T X

=i 3vpe+04 / 25
po 4231 0.0
pl -34.88+ 0.00

- C = 28.67 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(4, 8, 10

T nuizusse+u4 | 25
- po 4268+ 0.0
- pl -36.1+ 0.0

- C =27.70 [ps/ch

L 1
0 50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 8, 14

T Luse+ud /25
- po 4230+ 0.0
| pl -34.49+ 0.00

- C = 28.99 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4, 8, 3)
C T 9

S T wys7/25
e po 4214+ 0.0
pL -35.64  0.00

TP delay [ns]

TVC(c,b,ch)=(4, 8, 7

- po

pl -35.45+ 0.00

~nui4z/e+04 / 25
4245+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 8, 11
= T po

pl -34.92+ 0.00

L2y re+u4 [ 25
4259+ 0.0

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 4, 8, 15

e po 4244+ 0.0
p1 -36.18  0.00

1 nuiLuy1e+ud / 25

TP delay [ns]



TVC(c,b,ch)=(4,9,0) TVC(c,b,ch)=(4,9,1) TVC(c,b,ch)=(4,9, 2) TVC(c,b,ch)=(4,9, 3)
T Ao T T r T A

u o897/ 25 X rnur " 0s43/25 AL o203/ 25 S 6194/ 25
ao0om, po 4186+ 0.0 “0E,, po 4183+ 0.0 4000, po 4199 0.0 4000 PO 4204+ 0.0
Pl -32.79: 0.00 pl -32.8+ 0.0 L Pl -32.65: 0.00 Pl -33.02: 0.00
3000 - 3000 - -1 3000 -— - 3000 = =
2000~ E 2000 - 2000 ] 2000 E
wor C = 30.50 [ps/ch] Y. 1] wor C = 30.49 [ps/ch] Y. ] wol C = 30.63 [ps/ch] “-. ] wor C =30.28 [ps/ch] . ]
1 L5 1 L o o 1 Lo 1 1 -
50 100 50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(4,9, 4) TVC(c,b,ch)=(4,9,5) TVC(c,b,ch)=(4,9,6) TVC(c,b,ch)=(4,9,7)
T X~ nu 64/6/25 T X" /nar” rusl/25 T X~ nu 1916125 T X na y318/25
4000, po 4228+ 0.0 4000 e, po 4224+ 0.0 4000 fem, po 4221+ 0.0 4000 fo, po 4234+ 0.0
Pl -33.39%0.00 pl -32.9 0.0 L Pl -34.49% 0.00 Pl -33.92%0.00
3000 [~ - 3000 - = 3000 :_ _: 3000~ 1
2000~ g 2000 ] 2000 ' ' 2000 - -
. [ ]
w00 C = T 1000+ C = E
109F C = 29.95 [ps/ch] “._ ] wof € = 30.39 [ps/ch] ™= [ C =29.00 [ps/chl™, C=29.48 [ps/ch] ™.
% T 5 T % T % T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(4, 9, 8) TVC(c,b,ch)=( 4,9, 9) TVC(c,b,ch)=( 4, 9, 10) TVC(c,b,ch)=( 4, 9, 11)
T X~ 1 i byse+U4 / 25 T X~ 1 nug 11e+04 / 25 T X~ 1 nuizugze+u4 /25 T X~ 1 nuiLzabe+u4 25
4000 p, po 4207+ 0.0 4000 po 42312 0.0 4000 [, PO 42412 0.0 4000 oo, PO 4234+ 00
Pl -32.841 0.00 Pl -34.27:0.00 L Pl -32.89% 0.00 Pl -33.08: 0.00
3000~ E 3000 [ 1 3000} ] 3000 [ E
2000 - 2000~ ] 2000} ] 2000 ]
19F C = 30.46 [ps/ch] “-. 7 lo00F C = 29.18 [ps/ch] -] wol C = 30.41 [ps/ch] “-. ] woF C = 30.23 [ps/ch] Y-, ]
1 1 - 1 1 - i 1 1 -1 L 1 -
0 50 00 50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=( 4, 9, 12) TVC(c,b,ch)=( 4, 9, 13) TVC(c,b,ch)=( 4, 9, 14) TVC(c,b,ch)=( 4, 9, 15)
T X~ 1 zu4e+04 /25 T AT 1 yru2/25 T X~ 1L 150e+04 / 25 T A~ 1w 1 lpe+u4 /25
4000 f po 4255+ 0.0 4000 fe, pO 4254+ 00 4000 PO 4265+ 0.0 4000 o, PO 4263+ 0.0
pl -34.94 + 0.00 pl -34.46 + 0.00 o pl -35.68 + 0.00 -34.54 + 0.00
3000 B 3000 [ E 3000 - - 3000 E
2000 1 2000 [~ - 2000 ' ' 2000 - —
1000 — 1000 C = 29.02 [pS/Ch] o 1000:- C= ] w00 C = 28.95 [pS/Ch] S

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(CbCh) (4, 10 0)

4000 &

T rnuLzroe+u4 [ 25
4204+ 0.0
pl -36.15+ 0.00

3000

2000

1000

TP delay [ns]

TVC(cbch) (4,104

-1 i 395e+04 / 25
4236+ 0.0
-37+ 0.0

4000 &, pO
pl
3000 - 7
2000 [~ 7]
1000 [~ C 7
| L
50 100
TP delay [ns]
TVC(c,b, ch) (4, 10 8
4000 po

T nuig.s3ve+u4 / 25
4236+ 0.0
-36.71+ 0.00

p1

3000

2000

1000

0

TP delay [ns]

TVC(cbch) (4,10,12

4000 po

T i 5oze+04 / 25
4246+ 0.0
-34.85+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

e, po

AT rnunL13ie+ud /25
4207+ 0.0
p1 -36.44 + 0.00

TP delay

TVC(c, bch) (4,105

[ns]

-1 nui429e+04 [ 25
4223+ 0.0
pl -36.82+ 0.00

TP delay

TVC(c, bch) (4, 10 9

— po

[ns]

Tinu1ule+us /25
4271+ 0.0
pl -38.63 + 0.00

| =
100

TP delay [ns]

TVC(C, bch) (410,13

pO
p1

T inuia18e+ud [ 25
4261+ 0.0
-36.22+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4,10,2)

P PO

A7 1 nuizose+ud /25
4214+ 0.0
pl -36.77 + 0.00

TP delay

TVC(cbch) (4,10,6

pO
p1

[ns]

-1 nuizzge+u4 [ 25
4237+ 0.0
-37.89 + 0.00

TP delay

TVC(cbch) (4, 10 10

- b

[ns]

T rnuguzie+u4 [ 25
4277+ 0.0
pl -37.67 + 0.00

TP delay [ns]

TVC(cbch) (410,14

pD
pl

T gsze+u4 [ 25
4259+ 0.0
-35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT LS,

e po

se+U4 [ 25
4219+ 0.0
pl -36.09 + 0.00

TP delay

TVC(c, bch) (4,10,7

o, pO

[ns]

S i brze+u4 [ 25
4247+ 0.0
pl -37.42 % 0.00

50 100
TP delay

TVC(eh.ch)=(4, 10, 11

= pO

[ns]

Tinaib/e+ud [ 25
4288+ 0.0
pl -37.96 + 0.00

TP delay

TVC(cbch) (4,10,15

= po

[ns]

T nuin3se+ud [ 25
4260+ 0.0
p1 -35.75+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(4, 11,0)
T

Ko 95025
4176+ 0.0
p1 -34.99+ 0.00

TP delay [ns]

TVC(cbch) (4,11,4

- /i 168e+04 / 25
o, pO 4207+ 0.0
pl -36.42 % 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

i sze+u4 / 25
- po 4212+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(cbch) (4.11,12)

E pO

oan 8r41/25
4228+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4, 11 1)

S 500/ 25
e, pO 4176+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (4,11,5

-1 nui zole+u4d / 25
- pO 4222+ 0.0
-36.7+ 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(4, 11, 9

T nug3/ve+ud [ 25
- pO 4248+ 0.0
pl -35.92 + 0.00

TP delay [ns]

TVC(cbch) (4,11,13)

riae ysr1/25
po 4248+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,11, 2)

X" /nai

TP delay [ns]

TVC(cbch) (4,116

1000

1408 [ 25
[ s, po 4192+ 0.0
[ pl -36.1% 0.0

3000

T i1 zZbe+ud [ 25
- pO 4219+ 0.0
[ pl -36.28+ 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

0

X7 1 nuizusge+u4 / 25
- po 4254+ 0.0
L pl -37+ 0.0

TP delay [ns]

TVC(cbch) (4.11,14)

T L uze+ud /25
__ pD 4248+ 0.0
L pl -36.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4, 11 3)

S Twsz4/25
pO 4204+ 0.0
pL -35.94 & 0.00

TP delay [ns]

TVC(cbch) (4,11,7

- nui 19be+u4 / 25
- pO 4228+ 0.0
pL -36.05+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (4, 11 11

T nuiz48e+04 / 25
- po 4263+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (4,11,15)

nan 9ryl/25
4237+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 4, 12,0)

T LAl 8339/25
I~ po 4201 0.0
pl -34.39  0.00

[ C =29.08 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4,124

S i1 3ve+04 /25
o pO 4209+ 0.0
Pl -34.7510.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

~ 1 nuiL pyse+ud / 25
- pO 4230+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(cbch) (412,12

TinuiL4sie+ud / 25
- PO 4219+ 0.0
-34.16 + 0.00

[ C =29.27 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,12,1)

S wy23/25
[, pO 4204+ 0.0
pl -35.04 + 0.00

_L 1
50 100

TP delay [ns]

TVC(c, bch) (4,125

-1 nui435e+04 / 25
pO 4222+ 0.0
pL -35.18 0.00

TP delay [ns]

TVCebeh)=(4, 12,9

T nuiylse+us / 25
==, 4230+ 0.0
-33.63 + 0.00

[ C=29.74 [ps/ch] ™. ]

1
50 100

TP delay [ns]

TVC(C, bch) (412,13

- rna 1 18e+ud [ 25
- PO 4215+ 0.0
pl -34.84 + 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

1000

TVC(c,b,ch)=( 4, 12, 2)

ur

Faase, PO

PSR v111/25
4227+ 0.0
pl -36.34+ 0.00

TP delay

TVC(cbch) (4,126

[ns]

-1 i 200e+04 / 25
4226+ 0.0
-35.82 + 0.00

- pO
L p1
[ C=27.92[ps/ch
S(I) 10‘0
TP delay

TVC(ebeh)=(4, 12, 10

[ns]

T 1nuig.4nze+04 / 25
4263+ 0.0
-34.46 + 0.00

F 90
L pl
3000:— —_
2000:— —:
ool C = 29.02 [ps/ch]™, 1
. % o
TP delay [ns]

4000

3000
2000

1000

TVC(cbch) (412,14

- PD

T L zyse+ud [ 25
4221+ 0.0
pl -35.69 + 0.00

TP delay

[ns]

TVC(cbch) (4,12,3)

AT rnuiLusve+ud [ 25
4224+ 0.0
pl -36.43+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c, bch) (4,12,7

4000 fum pO

[ns]

- nui by /e+u4d / 25
4242+ 0.0
pl -35.37 + 0.00

3000 -

2000 -

wof C = 28.27 [ps/ch

TP delay

TVC(c, bch) (4, 12 1

4000 faen, pO

pl

[ns]

T onai r3ze+04 /25
4255+ 0.0
-34.32+ 0.00

3000 -

2000 -

o C = 29.14 [ps/ch]

1
50 100

TP delay
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T a4 /4e+04 [ 25
- pO 4265+ 0.0
p1 -37.06 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 2 13

T nuibzye+ud [ 25
- pO 4240+ 0.0
p1 -36.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

- C =28.22 [ps/ch

X~ 1 i syoe+U4 [ 25
Fre po 4210+ 0.0
[ p1 -35.44 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

-1 nun 389e+04 / 25
- pO 4236+ 0.0
[ 358+ 0.0

3000

TP delay [ns]

TVC(CbCh) (6, 2 10

- i 3e+U4 1 25
- pO 4264+ 0.0
[ 359+ 0.0

3000

TP delay [ns]

TVC(cbch) (6,2 14

~1nuiLgs4e+04 [ 25
. pD 4226+ 0.0
L pl -35.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3

A~ 1 i obbe+ud [ 25
F=. po 4213+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

-1 nui bo/e+u4 [ 25
pO 4250+ 0.0
p1 -36.26+ 0.00

TP delay [ns]

TVC(eheh)=(6, 2,

T b45e+u4/25
- po 4277+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 2 15

T inaiaiye+ud [ 25
= po 4245+ 0.0
p1 -35.82 + 0.00

TP delay [ns]



TVC(ebeh)=(6,3,0) TVC(ebeh)=(6,3, 1) TVC(ebeh)=(6,3,2) TVC(ebeh)=(6,3,3)
X~ 1 L Quzerud | 25 X 1Oy re+ud | 25 X~ 1 i loze+ud | 25 X 1L lzve+ud | 25
4000, LY 4197+ 0.0 4000 po 4203+ 0.0 4000, po 4215+ 0.0 4000 e, po 4217+ 0.0
pl -36.74  0.00 pL -36.97 £ 0.00 3 pl -36.79.+ 0.00 pL -35.86 + 0.00

3000

- 3000 -1 3000 =1 3000 -

2000 - 2000 -1 2000 -1 2000

1000 1 1000 = 1000 =1 1000

TP delay [ns]

TVC(cbch) (63,4

TP delay [ns]

TVC(c,b ch) (6 3,5

TP delay [ns]

TVC(cbch) (63,6

TP delay [ns]

TVC(c,b ch) (6 3,7

L 132e+04 25 = fyse+ud /25 L 3U6e+04 /25 = {ave+ud [ 25
4000 pO 4231+ 0.0 4000 fm, pO 42341 0.0 4000 e, pO 4238+ 0.0 4000 fas pO 4248+ 0.0
pl -37.51+ 0.00 Pl -36.48+ 0.00 - -36.2+ 0.0 Pl -35.77:0.00
3000 - -1 3000 - 3000 - 3000 - -
2000 E 2000 4 2000 1 2000 -
1000 C = E ] 1000 - L~ = .
C =26.66 [ps/c 1000 r 1 w00 C = 27.95 [ps/ch
-
- - -
- - -
o 1 L= 1 1 1
50 00 50 00 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 3,8 TVC(cbch) (6 3,9 TVC(cbch) (6, 3 10 TVC(cbch) (6, 3

~ 1 nuiLbuse+u4 / 25 Ty blbe+u4 [ 25 ©1nuz, 189e+04 / 25 T, //ue+u4/25
4000 fame, pO 4237+ 0.0 4000 fme pO 4254+ 0.0 4000 fome, DO 4283+ 0.0 4000 fe p0 4263+ 0.0
Pl -36.05: 0.00 -35.5 ¢ 0.0 L PL_ -35.94%0.00 Pl 3574000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (6,312

T s3ye+ud / 25
- PO 4237+ 0.0
pl -35.76 + 0.00

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

1
50 100

TP delay [ns]

TVC(C, bch) (63,13

T nai suse+ud | 25
4224+ 0.0
-35.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

3000
2000

1000

4000
3000
2000

1000

TP delay [ns]

TVC(cbch) (6,3 14

T szse+u4 [ 25
4227+ 0.0
-36.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(C, bch) (63,15

i1 Zse+ud [ 25
- po 42431 0.0
pl -36.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(6,4,0)
T Ao

w © wau3 /25
4199+ 0.0
p1 -36.05:+ 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 4, 4)
T X

“nar 5520/ 25
P, po 4187+ 0.0
pl -34.1 0.0

[ C =29.32 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 4,8

T L4/ ce+U4 [ 25
= PO 4191+ 0.0
-35.6+ 0.0

1
0 50 100

TP delay [ns]

TVC(c,b,ch)=(6, 4, 12

~riuiLguse+u4 / 25
= po 4223+ 0.0
-33.6 + 0.0

[C=29.76 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(6, 4,1)
T A

S 7 wuw3 25
P po 4178+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 4,5

S 8618 /25
== po 4186+ 0.0
pl -34.87 + 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 4,9

~ 1 nuig.aye+ud / 25
= po 4210+ 0.0
pl -35.22+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 4, 13

T naiuzye+ud / 25
= PO 4222+ 0.0
pl -34.71+ 0.00

4000 [
3000
2000

1000

TVC(c,b,ch)=(6, 4, 2)
T X

S 7 wasg 25
po 4192+ 0.0
p1 -36.17 + 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 4, 6

4000 [
3000~

2000 [~

wol- © = 28.29 [ps/ch

S C wusl/25
po 4190 0.0
pl -35.35+ 0.00

50

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 4, 10

4000 [,
3000~

2000~

w0l C = 28.66 [ps/ch]

S 020125
po 4243 0.0
p1 -34.89+ 0.00

0

50

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 4, 14

4000 .,
3000 f~

2000 =

- 287125
po 4230+ 0.0
pl -33.73+ 0.00

TP delay [ns]

wol- C = 29.65 [ps/ch] ™. 7

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(6, 4, 3)
fame T .

S 7 o5/ 25
" po 4207+ 0.0
p1 -35.76 + 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 4,7

= rnui 0z /e+04 [ 25
= po 4202+ 0.0
p1 -34.91+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 6, 4, 11

T nui143e+04 / 25
= po 4227+ 0.0
-33.89+ 0.00

[ C =29.50 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 6, 4, 15

X~ nar )5537 125
- p0 4226+ 0.0
pl -34.6+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1L uLre+u4 /25
[Fones, PO 4204+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (65,4

- rnug,ouze+ud / 25
Fome, pO 4199+ 0.0
pl -34.18 + 0.00

[ C =29.26 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

©1nuiL, rgoe+u4 / 25
- pO 4218+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (65,12

T f13e+u4 / 25
- pO 4228+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiLusLe+u4 /25
[, po 4215+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

- U Zgbe+u4d / 25
I 4196+ 0.0
-34.02:+ 0.00

[ C =29.40 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

~ 1 nui pgle+ud / 25
- DO 4216+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T 1 bpbe+u4 [ 25
- pO 4250+ 0.0
pl -36.12 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

TP delay [ns]

TVC(cbch) (6,56

X~ 1w 1o0e+04 [ 25
Faese, po 4227+ 0.0
I pl -36.49 + 0.00

3000

T nug14e+04 [ 25
- pO 4211% 0.0
L PL_ -34.15% 0.00

FC =29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

T UG, 131e+u4 / 25
= DO 4244+ 0.0
3 Pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

- L 6ze+ud [ 25
= PD 4223 0.0
I pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3)

ST wos5/25
- PO 4212+ 0.0
pl -34.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 57

S rfe+ud | 25
- PO 4212+ 0.0
Pl 3508+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

aALVR 5U/e+U4/25
- pO 4250+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

T 4z5e+04 [ 25
- pO 4237+ 0.0
pl -36.09 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

X~ 1 suse+U4 [ 25
po 4199+ 0.0
p1 -35.42+ 0.00

TP delay [ns]

TVC(cbch) (66,4

S 7 yye5 /25
o pO 4184+ 0.0
p1 -35.03+ 0.00

- C =
% o
TP delay [ns]
TVC(c,b ch) (6, 6 8

- i bove+ud 1 25
pD 4219+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(cbch) (6,6, 12

©rnuiLg4ve+04 / 25
po 4236+ 0.0
pl -35.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

A7 1 nuiL2Zooe+ud [ 25
e po 4209+ 0.0
p1 -35.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

“nui1/1e+04 /25
pO 4209+ 0.0
pL -36.31% 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 6,9

T nuiL1yle+us/ 25
pO 4250+ 0.0
-34.9 £ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 6 13

-1 1 4be+ud | 25
po 4228+ 0.0
pl -35.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (6,6,2)

X~ 1L 35/e+04 [ 25
po 4204+ 0.0
p1 -35.47 £ 0.00

TP delay [ns]

TVC(cbch) (66,6

T i 162e+04 / 25
pO 4197+ 0.0
pl -35.48 + 0.00

10‘0
TP delay [ns]

TVC(eb,ch)=(6, 6, 10

©1nuiz.a8oe+u4 | 25
po 4262+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (6,614

-1 slse+ud [ 25
pD 4225+ 0.0
pl -35.49 £ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

AT 1L e+u4 [ 25
po 4217+ 0.0
p1 -35.43+ 0.00

C =28.23 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

/nulizbe+04/25
pO 4209+ 0.0
p1 -35.92:+ 0.00

TVC(c,b ch) (6, 6

50 160
TP delay [ns]

T, 1me+u4125
po 4258+ 0.0
p1 -35.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 6 15

- slne+ud [ 25
pO 4239+ 0.0
p1 -36.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=(6,7,0)

T X~ 9144125
Faese PO 4188+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (67,4

-1 nuiLu4Be+u4 / 25
F pO 4200+ 0.0
Pl 3474000

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

T, rg1e+u4 | 25
- PD 4210+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (6,7,12

e, po
p1

T i sEoe+u4 / 25
4256+ 0.0
-36.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT 1 nuiL1sze+U4 [ 25
[roee po 4212 0.0
Pl -36.69% 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

- nu 1z8e+04 / 25
[Fomes, pO 4212+ 0.0
pL -35.32.+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

S rnun1nie+us / 25
- DO 4228+ 0.0
pl -36.44+ 0.00

TP delay [ns]

TVC(C, bch) (67,13

T 1 nui syoe+ud / 25
4250+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,7,2)

TP delay [ns]

TVC(cbch) (67,6

- tl1oe+ud | 25
[Fonen, PO 4218+ 0.0
3 pl -36.25+ 0.00

3000

- rnun318e+04 / 25
=, pO 4219+ 0.0
L Pl -35.03% 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

T 1nuizyize+ud | 25
- DO 4253+ 0.0
r pl -37.11+ 0.00

TP delay [ns]

TVC(cbch) (67,14

1000

- PD
pl

TinuiLg1e+ud /25
4254+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT 1nuiL33/e+u4 /25
- po 4217+ 0.0
p1 -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

T 413e+04 / 25
- PO 4219+ 0.0
Pl 3452+ 000

[ C =28.97 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

T rnug bz::e+u4/25
4263+ 0.0
-37.5+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (67,15

T nai szse+ud [ 25
4264+ 0.0
-36.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

AT 1nug 3rse+ud /25
- po 4185+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(cbch) (6,84

= 1L ube+ud / 25
e, pO 4270 0.0
pl -38.92:+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

S © 5193125
= pD 4214 0.0
pl -35.08:+ 0.00

TP delay [ns]

TVC(cbch) (6,8, 12

x-rmawusal25
= po 4223+ 0.0
p1 -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81)

S z4ne+ud [ 25
Foase pO 4182+ 0.0
p1 -34.77+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

- nui yzze+u4 [ 25
- pO 4253+ 0.0
pL -37.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

~ 1 nuiz.y4ye+ud / 25
==, 4223+ 0.0
-34.59 + 0.00

[ C =28.91 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (6.8,13

Srna 7 y143/25
foe, po 4236+ 0.0
pl -36.16+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.53 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

A7 1 nuig soae+u4 / 25
P, po 4206+ 0.0
- pl -35.05+ 0.00

- rnuiL1ule+ud / 25
- pO 4265+ 0.0
[ pl -38.22+ 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

T 1L, rgbe+u4 [ 25
. po 4255+ 0.0
- pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (6,8, 14

T L usse+ud / 25
. pD 4223+ 0.0
L pl -34.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,8,

po

pl

3

AT 1z, 1ave+ud [ 25
4209+ 0.0
-35.77 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

pO
pl

-1 U Zbae+u4 [ 25
4284+ 0.0
-37.96 + 0.00

TVC(c,b ch) (6, 8

100

TP delay [ns]

S me+u4/25
4261+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(C, bch) (6,815

T nai 1ose+ud [ 25
4233+ 0.0
-35.17 + 0.00

1
100

TP delay [ns]



TVC(ehe)=(6,9,0) TVC(Ebe)=(6,9,1) TVC(ehe)=(6,9,2) TVC(ehe)=(6,9,3)
A” 1L 140e+04 / 25 ALl ozl /25 AT 1L usse+ud [ 25 A1 qure+ud | 25
4000, po 4215+ 0.0 4000 ., po 42212 0.0 4000 fm, PO 4239+ 0.0 4000 fo, PO 4243+ 0.0
Pl -36.64 0.00 Pl -35.85: 0.00 [ pl -37.7+ 0.0 Pl -37.18+ 0.00
3000 - 3000 . 3000 s 3000 g
2000 - ] 2000 3 2000 g

2000

1000 =1 1000

1000

] w0 C = 26.53 [ps/c

50 0% 0 £ T00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(6,9, 4) TVC(eb.eh)=(6,9, 5) TVC(ebeh)=(6,9,6) TVC(eb.ch)=(6,9, 7)
11, z0ve+04 / 25 S 98Ul / 25 ~rnuiz3be+04 [ 25 1 133e+04 | 25
4000 e, pO 4239+ 0.0 4000 pO 4252 0.0 4000 =, pO 4261+ 0.0 4000 o=, pO 4277+ 00
Pl 35241 0.00 pl_ -35.88+ 0.00 [ pl -35.81+ 0.00 Pl -36.82 0.00
3000 E 3000 - 3000 — - 3000 ]
2000 . 2000 4 2000 — _ 2000 ]
1000 ] 1000 ] wof- C = 27.93 [ps/ch . 1000 C ]
1 1 - 1 il L 1 1 o= o 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(6,9,8) TVC(ebeh)=(6,9,9) TVC(ebeh)=(6, 9, 10) TVC(eb,oh)=(6,9, 11)
Tnuzl1/e+u4 /25 - 1uig.yuge+u4 / 25 T nugbe+u4 [ 25 -1 byye+u4 / 25
4000 e pO 4222400 4000 fen pO 4234+ 0.0 4000 [, DO 4261+ 0.0 4000 foe, p0 4273+ 00
pl 3511 0.00 Pl -35.95: 0.00 3 pl -36.21% 0.00 pl -36.31+ 0.00

3000 -1 3000 - 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6,9,12) TVC(cbch) (6,9,13) TVC(cbch) (6,9,14) TVC(cbch) (6,9,15)
T vus7 /25 S 8243125 Trnun L Ube+u4d /25 - nuig 1bze+04 [ 25
4000 f, pO 4240+ 0.0 4000 [, pO 4236+ 0.0 4000 fm, pD 4251+ 0.0 4000 o, po 4260+ 0.0
pl -34.15+ 0.00 pl -35.33+ 0.00 r pl -36.69 + 0.00 pl -36.64 + 0.00
3000~ - 3000 — 3000 — 3000 g
2000 ] 2000 m 2000 — 2000 E

1000 1000 X —_ 1000

1000~ C = 29.29 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

- rnuiLulae+ud [ 25
e pO 4206+ 0.0
p1 -35.74 £ 0.00

TP delay [ns]

TVC(Cbch) (6, 10 4

T 14ze+04 /25
A po 4216+ 0.0
pl -36.85+ 0.00

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 10,8

- i 315e+04 / 25
4220+ 0.0
-37.01+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 10 12

T rnuiL4yse+ud / 25
= po 4229+ 0.0
pl -35.44+ 0.00

TP delay [ns]

TVC(chh) (6,10,1)

4000 &

A-rnun Luse+ud | 25
e po 4208+ 0.0
p1 -36.2+ 0.0

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (6, 10 5

4000 [

Tnan 1 34e+04 /25
po 4220+ 0.0
pl -36.31+ 0.00

3000 |-

2000 -

1000~ C

1
50 100

TP delay [ns]

TVC(eb.oh)=(6, 10,9

4000 e pO

pl

-1 nuiyyyve+ud 25
4224+ 0.0
-36.01+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6, 10 13

4000 [,

TinuiLay/e+ud [ 25
4230+ 0.0
-35.47+ 0.00

3000

2000

1000

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

X~ 1 1L ugbe+u4 / 25
_= po 4220+ 0.0
[ p1 -36.39 + 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 10 6

1000

T 3/1e+04 / 25
- pO 4228+ 0.0
[ p1 -36.91+ 0.00

TP delay [ns]

TVC(e,b,ch)=(6, 10, 10

1000

0

- iz 3s1e+ud | 25
- pO 4250+ 0.0
[ p1 -37.04+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 10 14

T rnuiLa41e+04 /25
- pD 4232+ 0.0
L pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6, 10 3)

nut

pO

- Y1/6/25
42141 0.0
pL -37.11+ 0.00

TP delay

TVC(c,b Ch) (6, 10 7

o= pO
p1

[ns]

- b33e+04 / 25
4232+ 0.0
-36.46 + 0.00

50 160
TP delay

TVC(Cbch) (6, 10 11

[ns]

T inuiLap/e+u4 [ 25
4263+ 0.0
p1 -37.19.+ 0.00

TP delay

TVC(cbch) (6, 10,15

A nan 1

[ns]

1e+ud | 25
4239+ 0.0
-35.71+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

A7 nuiL4s0e+04 /25
4224+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (6,11,4

TVC(Cbch) (6,11,1)

AT 1L sose+ud [ 25

4000 =

3000 |-

2000

po
pL

4223+ 0.0
-34.55+ 0.00

w0l C = 28.95 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(cbch) (6115

4000

- 1L UZge+V4 | 25
P e, pO 4183+ 0.0
pl -36.24 + 0.00

Fc E
| L
50 100
TP delay [ns]
TVC(c,b, ch) (6,11,8)

T i1 5ye+u4 /25
= po 4230+ 0.0
pl -35.93+ 0.00

TP delay

TVC(cbch) (6,11, 12

[ns]

A~ 1 153e+04 /25
- po 4252+ 0.0
pl -34.97 + 0.00

TP delay

[ns]

- InULU/Ye+u4 | 25
P, DU 4199+ 0.0
pl -37.26+ 0.00

3000

2000

1000

TP delay

TVC(eh.ch)=(6, 11, 9

4000

[ns]

<1 nu byYe+ud / 25
4219+ 0.0
-34.51+ 0.00

3000

2000

100 C = 28.98 [ps/ch]

1
50 100

TP delay

TVC(cbch) (6,11, 13

PRRRLTIT

4000 foem po
p1

[ns]

se+u4 | 25
4252+ 0.0
-34.76 + 0.00

3000

2000 [~

oo C = 28.77 [ps/ch]

PR BRSNS |
50 100

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

K™ zg

[oase po

ve+u4 /25
4240+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (6,116

S rnun 1 uBe+u4 [ 25
pO 4206+ 0.0
pl -36.99 + 0.00

TP delay

TVC(c,b, ch) (6, 11 10

- o

[ns]

Tz proe+ud [ 25
4251+ 0.0
pl -35.45+ 0.00

TP delay

TVC(cbch) (6,11, 14

[ns]

X~ 1L uzse+ud [ 25
- po 4268+ 0.0
L pl -35.79+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6, 11 3)

pO

pl

T nun La4e+04 /25
4247+ 0.0
-36.8 + 0.0

TP delay [ns]

TVC(cbch) (6,11,7

- nui 320e+04 / 25
- pO 4214+ 0.0
pL -35.98+ 0.00

50 1(;0
TP delay

TVC(e.beh)=(6, 11, 11

= pO

[ns]

T nui sg3e+u4 [ 25
4253+ 0.0
pl -35.68 + 0.00

TP delay

TVC(cbch) (611,15

[ns]

T naiusze+ud [ 25
4267+ 0.0
-35.46 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 12,0)

T LAl you8 /25
Fomee, po 4182+ 0.0
pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (6,124

Crnuan 1 1ze+u4 /25
- pO 4233+ 0.0
Pl -37.74% 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

© oy zze+ud [ 25
- PD 4198+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

TanuiLz/1e+u4 /25
- po 4227 0.0
pl -34.79 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (6,12,1)

[ C =29.68 [ps/ch]

S wy18/25
— PO 4192+ 0.0
pl -33.69 + 0.00

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

- nui 183e+04 / 25
[, DU 4228+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (6,12,9

S bise+ud /25
- DO 4224+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (612,13

T Zobe+u4 / 25
pO 4224+ 0.0
pl -34.92 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

- C = 29.66 [ps/ch]

TVC(c,b,ch)=(6, 12, 2)

LAl 9453 /25
po 4190+ 0.0
pl -33.72+ 0.00

50

1
100

TP delay [ns]

TVC(cbch) (6.12,6

S rnun11ye+ud [ 25
pO 4221+ 0.0
pl -36.94 + 0.00

1
100

TP delay [ns]

TVC(cbch) (6, 12 10

1 nuiz,guge+ud | 25
DO 4242+ 0.0
pl -34.89 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

- C = 29.09 [ps/ch]

- i zs7e+04 ] 25
PD 4234+ 0.0
pl -34.38 + 0.00

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,12,3)

A~ 1 nuiLUbbe+U4 / 25
I po 4216+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c, bch) (6,127

- izl re+u4 / 25
F= PO 4259+ 0.0
Pl -38.33: 0.00

1=
50 100
TP delay [ns]

TVC(cbch) (6,12, 11

<1 bobe+u4 / 25
F 4264+ 0.0
-36.1% 0.0

TP delay [ns]

TVC(cbch) (612,15

a1 43e+u4 [ 25
- PO 4211+ 0.0
-34.39 + 0.00

[ C =29.08 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
~nuiL4z29e+U4 [ 25 AT 1 nuiLzoze+ud [ 25 T LAl ©8/46/25 AT 1 nuiLsuse+U4 / 25
4000, pO 4200 0.0 4000, po 4209+ 0.0 4000 po 4208+ 0.0 4000, po 4213 0.0
Pl -36.87+0.00 pl_ -36.86+ 0.00 L Pl -36.42% 0.00 Pl -36.44% 0.00

3000

-1 3000 = 3000 = 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 N 1000 = 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

4000 E - i 313e+04 / 25 4000 -1 440e+04 [ 25 4000 E © Ui 335e+04 / 25 4000 -1 nun 383e+04 / 25
[oese, pO 4161+ 0.0 = pO 4164+ 0.0 [, pO 4169+ 0.0 F pO 4194+ 0.0
pl -35.57 + 0.00 pL -36.02.+ 0.00 3 pl -35.53:+ 0.00 pL -35.78 + 0.00
3000 — 3000 B 3000~ - 3000 | E
2000 -1 2000 - 2000 [~ - 2000 [ -1
- 1000 - F = - - -
1000 w0 C = 28.14 [ps/ch 1 1000
3 - -
1 1 - 1 1 -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,oh)=(6, 13,8) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(ep.ch)=(6,13, 11 )
©1nu.a81e+u4 / 25 -1 nugbUBe+u4 [ 25 © 1 nuiLygze+u4 [ 25 T gale+u4 / 25
A000R., pO 4198+ 0.0 4000 pO 4233+ 0.0 4000 [, DO 4216+ 0.0 4000, p0 42351 0.0
pl -34.86+ 0.00 -35.36+ 0.00 3 pl -34.02:+ 0.00 pL -36.26+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

- : 1000 -1
1000 1 1000 oo C = 29.39 [ps/ch]
1 1 - ! 1 1 -
50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (613,12 TVC(cbch) (613,13 TVC(cbch) (6.13,14 TVC(cbch) (6,13,15

T 1 oye+ud /25 T nuiLbzoe+ud 25 ©nuiLgase+U4 / 25 Tonan L ze+ud | 25
4000, PO 4209+ 0.0 4000 4182+ 0.0 4000 F 4201+ 0.0 4000 PO 4201+ 0.0
pl -35.22+ 0.00 -34.33+ 0.00 F -34.9+ 0.0 pl -35.35+ 0.00

3000 -1 3000 - 3000 - 3000 .

2000 B 2000 |- E 2000 - 2000 -

1000 B L _ . 1000 . 1000 -

100 C = 29.13 [ps/ch] C ]
- - L
- - -
| L5 L L5 | L5
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 14,0)
T A

w5948 /25
PO 4200+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 14, 4

a v3/5/25
PO 4202+ 0.0
pl -35.42 + 0.00

TP delay [ns]

TVC(c,b,ch)=(6, 14, 8

[ C =29.48 [ps/ch]

- 39/e+04 [ 25
Po 4181+ 0.0
pl -33.92+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 6, 14, 12

~ 1 nuiLusoe+ud / 25
PO 4209+ 0.0
pl -35.3+ 0.0

PR
100

TP delay [ns]

4000 (S

3000

2000

1000

TVC(c,b,ch)=(6, 14, 1)
T

X rnur rzevd [ 25
po 4200+ 0.0
p1 -35.6+ 0.0

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 14,5

4000 o

3000 |-

2000

1000 [~ C

wr 984125
Y 4208+ 0.0
pl -36.59+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 14,9

4000 [,

3000 -

2000

oo C = 29.29 [ps/ch]

T inu, rg1e+u4 / 25
po 4203+ 0.0
pl -34.14+ 0.00

1
100

TP delay [ns]

4000 E,

3000

2000

1000

TVC(c,b,ch)=( 6, 14, 13)

Sona Y1725
PO 4193+ 0.0
pl -35.96 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
:
:
ww;c:ZQSstmh] - é
| " -

4000

3000
2000

1000

TVC(c,b,ch)=( 6, 14, 2)
T A

- C = 27.88 [ps/ch

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 6, 14, 6

w7 uud /25
- PO 4204+ 0.0
F pl -35.87 + 0.00

11urL09ze+04 [ 25

- po 4221+ 0.0
3 pl -36.75:+ 0.00

1
50 100

TP delay [ns]

TVC(c,b,ch)=( 6, 14, 10

© o z0ze+ud | 25
- po 4211+ 0.0
- pl -34.11+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 6, 14, 14)

e usr6/25
- po 4214+ 0.0
I pl -36.43 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 14, 3)
T A

ST yva )25
PO 4222+ 0.0
pl -35.59 + 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=(6, 14, 7

X" 110 UABe+U4 | 25
po 4240+ 0.0
-37+ 0.0

TP delay [ns]

TVC(c,b,ch)=( 6, 14, 11

S 131e+u4 /25
po 4217+ 0.0
pl -34.85+ 0.00

1
100

TP delay [ns]

TVC(c,b,ch)=( 6, 14, 15

Sona o Ts207125
po 4204+ 0.0
pl -35.74 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000~ -
2000 _
1000 C -
1 1 -
50 00
TP delay [ns]
TVC(c,b,ch)=( 6, 15, 8)
T P ALt 1316125
000, po 4211 0.0
-34.01+ 0.00
3000 | E
2000 | ]
wor C =29.41 [ps/ch] N\, 7]
3 % i

4000

3000

2000

1000

TVC(cbch) (6,15,0)

X rnu uozd/25
[oee po 4148+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (6,154

1 nar )tsn\sl 125
Fames p0 4170+ 0.0
pl -34.5+ 0.0

TP delay [ns]

TVC(cbch) (6,15, 12

T inuiLizye+ud / 25
I PO 4286+ 0.0
pl -37.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,15,1)

Sroue T yz02/25
Fomms pO 4150+ 0.0
pl -35.09+ 0.00

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 5

b, ,15,5)
T X7 nan 8811/ 25
Fomes po 4183+ 0.0
pL -34.05+ 0.00

[ C =29.37 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

~ 1 nuiL gbbe+ud / 25
4229+ 0.0
-34.55 + 0.00

[ C =28.94 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (615,13

T uzse+u4 [ 25
[P, pO 4279+ 0.0
pl -36.89 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (6,15,2)

X~ 1L uzse+u4 [ 25
[ po 4156+ 0.0
I pl -35.29+ 0.00

3000

TP delay [ns]

TVC(c,b,ch)=( 6, 15, 6

b, ,15,6)
T PaEAL 9496 / 25
o, po 4194+ 0.0
- pl -34.96 + 0.00

- C = 28.60 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

© L zuse+u4 / 25
= DO 4252+ 0.0
5 pl -34.72 + 0.00

- C = 28.80 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (615,14

i 157e+04 ] 25
[~ PD 4278+ 0.0
L pl -36.32 + 0.00

TP delay [ns]

TVC(cbch) (6,15,3)

4000 P e po

p1

AT 1 nuiLzaze+ud [ 25
4174+ 0.0
-36.07 + 0.00

3000

2000

1000

TVC(c,b ch) (6,15,

pO
pl

2000

i

1
100

TP delay [ns]

7

8923 /25
4199+ 0.0
-33.85+ 0.00

3000

2000 -

10 C = 29.54 [ps/ch]

50

100

TP delay [ns]

TVC(cbch) (6, 15 11)

4000 faus pO
pl

i

1957125
4242+ 0.0
-34.09 + 0.00

3000 -

2000 =

1o00F C = 29.34 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (615,15

4000 fm, pg

Tnaizrse+ud [ 25
4286+ 0.0
-36.85+ 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

T pa/e+ud /25
- pO 4193+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (70,4

T rnuan1.z4e+04 1 25
4176+ 0.0
-34.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 0,8

T L fo/e+U4 [ 25
po 4208+ 0.0
pl -35.62+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,0,12

T, r44e+04 / 25
= po 4238+ 0.0
pl -37.78+ 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT 1 nuiLsvse+ud [ 25
P s po 4194+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

=1 nui 3yse+ud [ 25
E pO 4192+ 0.0
p1 -35.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 0,9

~ 1 nu.y44e+u4 25
= pO 4211+ 0.0
pl -36.32 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

~ 1 nuis.ubye+ud / 25
- pO 4232+ 0.0
pl -37.25+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

A7 1 nui Sooe+u4 / 25
Feasa po 4204+ 0.0
[ p1 -36.46 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,6

- C = 28.94 [ps/ch]

-1 nuiL4y5e+04 [ 25
pO 4185+ 0.0
pl -34.55 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

1 nuiz.489e+04 | 25
- po 4249+ 0.0
L pl -36.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,14

F- "
L p1

-1 nuigpove+ud / 25
4237+ 0.0
-38.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT 1 nuiLsane+ud [ 25
P s po 4197+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

-1 nui bl3e+u4d / 25
4210+ 0.0
-35+ 0.0

TP delay [ns]

TVC(c,b ch) (7, O

T, /U‘Je+U4/25
= pO 4245+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

T nuiz ysse+ud [ 25
e po 4246+ 0.0
p1 -37.39+ 0.00

TP delay [ns]



TVC(cbch)(710) TVC(cbch)(?ll) TVC(cbch)(712) TVC(cbch)(713)
AT 1w 341e+04 / 25 A~ gule+ud /25 AT 1w z41e+04 [ 25 AT 3zoe+ud | 25
4000 4176+ 0.0 4000 Fomme po 4190+ 0.0 4000 _=— po 4191+ 0.0 4000 s po 4221+ 0.0
-35.7+ 0.0 pl -36.55+ 0.00 : pl -36.67 + 0.00 pl -36.31+ 0.00

- 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 N 2000

1000 4 1000 - 1000 B 1000

1 L 1
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.1,4 TVC(cbch) (7,1,5 TVC(cbch) (7,1,6 TVC(cbch) (7,1,7

T 1 31e+04 / 25 “nun 1 24e+04 1 25 T UL Z/oe+04 [ 25 -1 34ye+U4 [ 25
4000 pO 4222100 4000, DU 4217+ 0.0 4000 fm, pO 4231+ 0.0 4000 fes pO 4238+ 0.0
Pl -36.07: 0.0 Pl 3551 0.00 L PL_ 3577+ 0.00 -36+ 00

3000~ - 3000 m 3000 ] 3000 E
2000 — 2000 ] 2000 ] 2000 -
1000 - L ] [~ _ ] 1000 b
C 1000 C woo- C = 27.96 [ps/ch 1
5(') 10'0 5%} 1(;0 5(') 10'0 5(') 1(;0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVCebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
LW A)weﬂm 125 T nug tw)4ae+u4/25 AL 12¢e+04/25 T rnug 94)1e+u4/25
4000, pO 4226+ 0.0 4000 e, pO 4236+ 0.0 4000 DO 4248+ 0.0 4000 p0 4262 0.0
Pl 35531 0.00 -34.61+ 0.00 L Pl -33.37:0.00 -34.76 % 0.00
3000 E 3000 [ E 3000} ] 3000 - B
2000 4 2000 E 2000k ] 2000 1
1000 B 1000 C = B I ] 1000 C = —
C =28.89 [ps/ch] - w0k C = 29.96 [ps/ch] -, 1 C =28.77 [ps/ch] -
1 1 - [ 1 L - i 1 1 "
50 700 0 50 00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(711 ) TVC(cbch)(7113) TVC(cbch)(711 ) TVC(cbch)(7115)
T L psLe+u4 / 25 T nui s3se+ud [ 25 ~ L b3pe+u4 / 25 T nui ozse+ud [ 25
4000 pO 4224+ 0.0 4000 pO 4221% 0.0 4000 PD 4226+ 0.0 4000 o, pO 4228+ 0.0
pl -35.26 + 0.00 pl -35.49.+ 0.00 F pl -35.88 + 0.00 pl -35.33+ 0.00

3000

-1 3000 - - 3000 -1 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 [~

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

- Lize+ud [ 25
PO 4206+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (72,4

T35 /e+04 / 25
v pO 4186+ 0.0
pl -35.34  0.00

e ]
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

T, rzze+04 | 25
PD 4233+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (7,212

T nuiLsuLe+u4 / 25
PO 4214+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,21

AT 1 nuiLUsse+u4 / 25
P po 4190+ 0.0
pL -36.23 + 0.00

TP delay [ns]

TVC(c,b ch) (7,2,5

'ynulible+04/25
o Y 4206+ 0.0
pL -36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T g/ (be+u4 [ 25
- pO 4237+ 0.0
pL -35.54+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

- i1 Soe+ud [ 25
= PO 4212% 0.0
pl -35.89 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

X~ 1w Zupe+U4 [ 25
[ oeee, po 4199 0.0
I pl -36.63 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,26

Trnu yaz8 /25
- pO 4188+ 0.0
I pl -34.59+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

TnuiLgze+u4 [ 25
- DO 4254+ 0.0
I pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

- L 30 /e+04 ] 25
PD 4225+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT 1 nuiLUBbe+U4 / 25
[roem, PO 4213% 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

/nullﬂdE+U4/25
= PO 4211% 0.0
pL -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

SRAL R bUbe+U4/25
- pO 4259+ 0.0
pl -37.68 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

<1 4oye+u4 [ 25
- PO 4229+ 0.0
pl -35.69 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

K™ inuiLio/e+u4 /25
- po 4185+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

a3 rse+04 [ 25
= pO 4177+ 0.0
pl -35.65 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

T Ly ze+u4 [ 25
po 4194+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T 1ose+ud /25
pO 4215+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

AT 1 nuiLzoye+ud [ 25
s po 4195+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

=1 nui 3ube+u4 / 25
e, DU 4188+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nuizvbze+ud [ 25
= po 4212+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

T nuiLayse+ud [ 25
== pO 4206+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

1000

0

TVC(cbch) (7,3,2)

AT 1nun s4ze+04 /25

Fonas. po 4201+ 0.0
L pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

111urL.400e+04 [ 25

I pO 4192+ 0.0
[ PL_ 3594+ 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1 Uiz g4se+u4 | 25

b=, po 4232+ 0.0
X pL -37.15+ 0.00

TP delay [ns]

TVC(cbch) (7,314

T r4e+04 /25

]

4210+ 0.0
-36.11 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT rnuiLusse+ud /25
- po 4201+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

-1 nui bave+u4 [ 25
- pO 4196+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T auie+u4/25
4239+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.3,15

71 nui vbove+ud / 25
po 4222+ 0.0
p1 -35.99+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1

suze+u4 | 25
4189+ 0.0
-35.99+ 0.00

TP delay [ns]

TVC(cbch) (7.4,4

nu

Fraese. PO

8281/ 25
4211+ 0.0
-35.79+ 0.00

TP delay [ns]

TVC(eb.ch)=(7, 4,8

- g
pO
p1

Z38e+Uu4 | 25
4213+ 0.0
-34.97 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

T rnuiLgzve+u4 | 25
4217+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

P PO

p1

K™ 1 nuiL4roe+ud [ 25
4184+ 0.0
-35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

“nui1z/e+04 /25
4214+ 0.0
-35.4 + 0.0

1
50 100

TP delay [ns]

TVC(c,b ch) (7, 4

e, po

pl

1 nub.Usbe+ud / 25
4233+ 0.0
-35.13 + 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

T nui yzze+ud [ 25
4224+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7.4,2)

[oeee, po

pl

A7 1nui4r4e+04 /25
4192+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (7.4,6

pO
p1

- rnun 138e+04 / 25
4225+ 0.0
-36.78 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO

pl

© 1 nuzgz9e+04 | 25
4249+ 0.0
-34.84 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

~ 1L pbae+u4 [ 25
4213+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (7,4,

e, po

pl

3

AT 1 nuiLobze+ud [ 25
4197+ 0.0
-35.68+ 0.00

TVC(c,b ch) (7 4,7

pO
pl

1
100

TP delay [ns]

-1 nui4/4e+04 / 25
4233+ 0.0
-36.97 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7,4,

1)
rnur 271e+04 /25
4251+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

15

T nui yzse+ud [ 25
4235+ 0.0
-37.13+ 0.00

TP delay [ns]



TVC(c,b,ch)=(7,5,0) TVCEbe)=(7,5,1) TVC(ehe)=(7,5,2) TVC(Ebe)=(7,5,3)
AT yoa3 /25 A~ 1w 135e+u4 [ 25 AT 1L 1/oe+u4 [ 25 A”rnuaiLy/1e+ud [ 25

40008 ' po 4187+ 0.0 400, po 4193+ 0.0 4000, po 4212+ 0.0 4000 R, po 4218+ 0.0
Pl -35.06+ 0.00 pl  -35.33%0.00 [ Pl -35.92% 0.00 Pl -35.69+ 0.00

3000

-1 3000 -1 3000 =1 3000 -1

2000 -1 2000 =1 2000 = 2000

1000 - 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(C b Ch) ( 7 5/ “‘ﬁ l?ubeﬂ]d 125 TVC(C b Ch) ( 7 '5 ”U§ ) yr47/25 TVC(C b Ch) ( 7 § “‘g U)lbe+U4 125 TVC(C b Ch) ( 7 E’/ nurg L)bbe+04/25
4000 4189+ 0.0 4000, po 4210+ 0.0 4000 po 4205+ 0.0 4000 s po 4217+ 0.0
346+ 0.0 Pl 35643000 [ PL_ -35.06% 0.00 Pl 3538000

= 3000 -

e 3000 - 1

3000 - 3000 |-

2000 B 2000 E 2000 2000

1000 - lo00- C 1 1000:— C =28.52 [ps/ch — wooF C = 28.26 [ps/ch ]
% o % i % T % o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 5,8 TVC(cbch) (7 59 TVC(cbch) (7, 5 10 TVC(cbch) (7, 5

T i pzse+u4 / 25 1 nub.p48e+U4 | 25 1 nuz.gg4e+04 | 25 T rnung m::e+u4/25
4000 PD 4206+ 0.0 4000 b, DO 4219+ 0.0 4000 - DO 4237+ 0.0 4000 fom, pO 4241+ 0.0
pl -36.52+ 0.00 pl -36.89 + 0.00 I pl -36.59 + 0.00 pl -36.31+ 0.00

- 3000

3000 -1 3000 -1 3000 -1

2000 - 2000 -1 2000 N 2000

1000 » - 1000 -1 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(751 ) TVC(cbch)(7513) TVC(cbch)(751 ) TVC(cbch)(7515)
TrnuiLzse+u4 | 25 T inui 1bve+ud / 25 T L zzoe+04 [ 25 Tonaize+u4 /25
4000 pO 4238+ 0.0 4000 [, pO 4239+ 0.0 4000 = 4242+ 0.0 4000 e, pO 4226+ 0.0
pl -36.6 + 0.0 pl -36.75+ 0.00 [ -37.21+ 0.00 pl -35.94 + 0.00

3000

. 3000 - 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

X~ 1w 458e+04 [ 25
... PO 4227+ 0.0
p1 -36.78 + 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- 1 nuiL4p4e+04 / 25
Faase po 4206+ 0.0
pl -35.45+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (7 6,8

- bsserud | 25
- pD 4188+ 0.0
-34.06+ 0.00

I C =29.36 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (7,6,12

T rnui141e+05 /25
= po 4202+ 0.0
pl -32.51+ 0.00

[ C =30.76 [ps/ch] ™= ]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT 1 nuiLb53be+u4 [ 25
k.. po 4229+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

©1uiL443e+04 [ 25
k. pO 4224£ 00
Pl 35873000

TP delay [ns]

TVC(c,b ch) (7 6,9

-1y, 715e+U4 ] 25
e, pO 4223+ 0.0
pL -35.19+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

Tinuia1se+ud [ 25
= pO 4235 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

X~ 1w 430e+04 [ 25
P po 4223+ 0.0
[ Pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

T i 7z9e+04 [ 25
. 4238+ 0.0
[ -36.3+ 0.0

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

- 1 iz uoe+ud | 25
- pO 4248+ 0.0
[ p1 -35.913 0.00

TP delay [ns]

TVC(cbch) (7.6,14

1000

-1 58 /e+U4 [ 25
pD 4249+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(cbch) (7,6,3

3000

2000

1000

A7 1 nuiL4use+u4 | 25
4000 [es,, po 4240+ 0.0
p1 -36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

3000

2000 -

1000 [~

- 1L 7yze+u4 | 25
4000 fum pO 4252 0.0
pL -36.69 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (7, 6

4000 [u.

3000

2000

1000

T 94/e+u4/25
pO 4235+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

4000 e

3000

2000

1000

S Y1e+ud [ 25
pO 4240+ 0.0
-35.68 + 0.00

TP delay [ns]



TVC(c,b,ch)=(7,7,0) TVC(c,b,ch)=(7,7,1) 7o TVC(c,b,ch)=(7,7,2) TVC(c,b,ch)=(7,7,3)
K’ vai3/25 S vas K’ use5125 xorou 7 usiB/25
4000, ' po 4206+ 0.0 4000 i, ' ;0 42191 0.0 4000, ' PO 4218+ 0.0 4000 B, ' PO 4223+ 00
Pl 34.84 0.00 pl -35.5+ 0.0 L PL_ -35.14% 0.00 Pl -35.41% 0.00

- 3000

3000 - 3000 -1 3000 1

2000 - 2000 -1 2000 = - 2000

] 1°°°:‘ C =28.46 [ps/ch ' wor C = 28.24 [ps/ch

1000 - 1000 ]
0 1 1 1 - 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(7, 7, 4) TVC(c,b,ch)=(7,7,5) TVC(c,b,ch)=(7, 7, 6) TVC(c,b,ch)=(7,7,7)
T X7 Yurl/25 T X1 nuiLu14e+04 [ 25 T X7 1nuiL1z1e+04 /25 T X~ 1 uyse+ud [ 25
4000 PO 4203+ 0.0 4000 7, po 42141 0.0 4000 po 4232+ 0.0 4000 s po 4235+ 0.0
pl -34.92+ 0.00 pL -35.65+ 0.00 3 pl -36.32:+ 0.00 pL -35.92+ 0.00
3000~ E 3000 - 3000 — — 3000 -
2000 = - 2000 - 2000 — — 2000 -
ol o 1 1000 . wof C = 27.53 [psichly, _ 7 wof C = 27.84 [ps/ch 1
1 1 - [ 1 1 - 1 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(7, 7, 8) TVC(c,b,ch)=(7,7,9) TVC(c,b,ch)=( 7, 7, 10) TVC(c,b,ch)=(7, 7, 11)
T X~ 1z zgoe+04 | 25 T X1 nub.439e+U4 [ 25 T X~ 1 nuiLs4ave+u4 [ 25 T AT L gbre+ud [ 25
4000 e po 4217+ 0.0 4000 [ po 4232+ 0.0 4000 po 4239+ 0.0 4000, po 4251+ 0.0
pl -35.35 + 0.00 pL -36.07 + 0.00 [ pl -36.41:+ 0.00 pL -36.03  0.00

3000 -1 3000 - 3000 1 3000 -1

2000 - 2000 E 2000 E 2000

- 1000 1 1000

1000 T 1000

oL I I ] I
0 50 100 50 100

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b,ch)=(7, 7, 12) TVC(c,b,ch)=(7, 7, 13) TVC(c,b,ch)=(7, 7, 14) TVC(c,b,ch)=(7,7,15)
T X1 bize+ud /25 = T A~ 1nu43/e+u4 125 T X1 bzze+04 [ 25 - T A~ 1 g19e+u4 | 25
4000 k=, po 4223+ 00 4000 e pO 422200 4000 o, PO 4220+ 00 4000 o, PO 42213 00
pl -37.52+ 0.00 pL -37.78 + 0.00 [ pl -36.82 + 0.00 pL -37.25+ 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 E 2000 E 2000 E 2000

1000 -1 1000 -1 1000 -1 1000

- - I " ]
' PP TR T PP TP T .
0 50 T00 0 50 T00 0

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

A7 1nui zsoe+ud [ 25
4163+ 0.0
pl -36.09 + 0.00

TP delay

TVC(cbch) (7,84

[ns]

-1 nuiL438e+04 / 25
4180 0.0
-35.73+ 0.00

TVC(cbch) (7,812

B pO

Frve pO
pl
- C =
1 1 "
50 100
TP delay [ns]
TVC(cbch) (7.8.8)
Tz 3s/e+u4 [ 25
4196+ 0.0
-35.2+ 0.0
.
1 1 "
0 50 100
TP delay [ns]

T rnuiLp3le+u4 / 25
4208+ 0.0
pl -37.37+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,1)

Fomes po

AT 1 nuiL1y4e+U4 [ 25
4177+ 0.0
pl -35.62 + 0.00

TP delay

TVC(c,b ch) (7 8,5

[ns]

-1 nui 3gbe+u4 / 25
4187+ 0.0
-36.1+ 0.0

50 1(;0
TP delay

TVC(c,b ch) (7 8,9

[ns]

~ 1 nai zgbe+ud [ 25
4217+ 0.0
pl -35.93 + 0.00

TP delay

TVC(C, bch) (7.8,13

[ns]

T inai ruse+ud / 25
4215+ 0.0
pl -38.15+ 0.00

N PR Y
50 100

TP delay

[ns]

TVC(cbch) (7,8,2)

4000

3000
2000

1000

froese po

K™ 1 nui sole+u4 /25
4178+ 0.0
p1 -35.46 + 0.00

TP delay

TVC(cbch) (7.8,6

4000

3000

2000

1000

froese PO

p1

[ns]

-1 Ui 480e+04 / 25
4193+ 0.0
-36.16 + 0.00

TP delay

TVC(cbch) (7, 8 10

4000

3000

2000

1000

[ns]

T rnuz4nie+ud [ 25
4202+ 0.0
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